
�
��
�
�
��������


�� �	�	���� �	�
� �	�� �
������������

9����	���� ��� +�����	���� ;�"�&�� ��� �����4+��	���

�	�	����� (	��������&H�	�	�	
� �A� �	� '	��"�
��&�	
�

�� :�	��� �����	����� G�1�A��� 4����� �)���� ��1
���= �	� �
����� �)��
�

	�� ��� �	�	���� (	��3 ��� ������	��� 7�"�
��-	��1��&�	� ��� "
���-	��� ��1�2

����+�&�� (���1�	������B��	��&�	��� ���������� 4�����= 
	��� 	����	�	�����

�	����������� 4����� 	� ��� 7���	�+� ����� 7�����1��	������� 1�����	����=

�	�� ��	�� �	���� (�����-����� ��� 	��� D��-��� 	� �����	����� $�
-��� ���2

1��3 �	�� 4�	���� �	�	�	����� �	��� 	� ��� ����	�	
������ C��&���� ��� ���	����

�
���?��3 	� ��� ��� (	�� ������	��= ��	� ������� @����� 4����� 1�4���� (	����

����� �	��� �����	����� ;""���� ������� J"�
��-	���K3 1���1�	��� J"
��"�
��2

-	���K ��� ��� -�	��	��2B���	��� �	���	� 	� �	�
 ��"�
��-	���= �� �	���� :�	�2

���� ��� �	�� �	�� 7�	�� �
� 7����� ���4	�&���3 �	� ������ >
��������� ���
�3

4	� �	�
1	���� -� ���&�	
�	���� ��� -� 4	�&�� ��1��3 ��E��1�	�� 1���	���

��1��=


	� �
������� 01���������� -�� ������&�	
� �
� �����	����� $�
-����� ���

+�����	����� $�+�
����� �	�� ������1 ��� >��
����� ��� �	�	����� (	�������2

�&H�	�	�	
� �����A1�� �	��� ;11	�������
��� �	� ���&B���	���� &	����2

�
���"�	����� 9����	&�� ��� ,�����	&�� &
�-	"	���= �� D������	���� "�+���2

�	��� �	���� 9�?� �	� ����1�	��� �	��� '
��������"�
%�&�� ��� ���4�	-��	�����

��
��	��	
� �A� 9����
�
�	� ��� ���
���	
�#3 ��� �
� ��� C
�������� �A�

/��������� ��� ����� 	� :A�	�� 	� :���������1�	� �	� ��� D	���������"���2

���� �4	�� ������� ��� �
�) R������� �; �
4	� ��� C
��������� ��
�� "
�)2

�����	H�� �!�!���� �������� ��� ��� G�	����	�+� (���� ���������� 	��= 
��

>�������� -�� �	�	����� (	��������&H�	�	�	
� 4���� ������ ��� �"	���	��"�
2

��&�	
� (����� /��� ���� J$�
��&�	
�� 
���
	�� >�������3 :A�	��N 7��	��

;��� ��	�N ������� ���� '��	�K ��������=
5

����"������� �	����� �	��� 01���������� �	� :�	�1	��3 �	�� /����4��������)��

���-�	� "��&�	-	����� (	���&H�	�	�	
����������� �	� �	��� ��� 4��	��� �	�	����� ��2

�����3 �	� 1	� ����� A1�����"� ��� ;��"�A���� �� �	�� "�
����	
����� $�
��&2

5 >��= ��-� ���� ���"�II444=�	�	�����&	�
=��= (��
������ 
��& ��1A��� ��� �
������ ���2

��	�� (A�����3 $���	�& �	������	�� ��� 7��
�� /���4	��=



�	
��4�	�� ���A���3 ��� �
�) C
D2'�66= �	� �	����� (	���� �	� 5��6?56O6 $	?���

��� %���� (	�����H���- �
� �� (	����� "�
 ��&����3 �	� �	�� 	� �	�
 ��	� ���

5��6�� @����� ���1�	��� ���= 
	��� 9����	& 4	�� C
2��" �������3 4�	� �	� �� "�
2

�����	� �������� >
��1	���� 	� C	��2
��	�	�	
�2W���	�+� �	�����= ;�� /��	
���	��� ���

>��������� ��	�� 4���4�	� /�
��� ����� ���3 ��� �	� �	���� ������ ���� -���

����	�� ��� #����� 	� ��� 0�	��� JG�; �66�K "�
��-	��� ���=


	�	���� (	���� �	1� �� ��	� @�����= '	���3 �	� �	� �	�	����� ������� �������

4�����3 �	1� �� �1�� ���� 4��	��= 
	� ��	���� �
� 	���� 4����� 	� ����2

����2;���B���� ����	�	��� ��� ��1�� 1�4���� �	�� ,�����	& ��4+���3 �	� �	��

&
�����	
������ �����4
����	��� ��������������3 �	��� �����3 �
&������2

�	��� 4	�&����� �

& �	� ���� �	�� C���&�����3 ��� ��� ������� ��� G��	�2

���1����3 ;������	����� 1��
��= 
�� C	��2
��	�	�	
�2>�������� 	�� ��4��


�	����= .	��� &����	����� '	��3 �	��� ����-	�����3 ��������� >	��
3 ����� �� �	�

��	��� ���� �����"����� 4	�&����� (	����� ����4
��� �)"������	��	��� ��=

$	?�� ��= �
��

��	� (��	�� 	���� ���4	�&���� �	�� �	� �����	����� (	�����-�	�������������2

��� ��� �������	���� ;��� ������1	����= 
�� �����&�	���� �	��� ��� D��� �
�

��� ������ 4	�� ����� �	�� �	��� ��1A����� ��� ��� �	�� &��	�� $�
%�&�	
����+2

��� ��4
����3 �	� "�
�
����	�	� 	��= �	� �	���� ������	����� ;���
�	� �����B"2

��� �	�� %��
�� �	� $���������=


	� "�)�	&��	���2����	����� 
��� ��������	����� $�
-����3 �	� ��� (	��2

���-�	������ -������� �	����3 ��������� 	��� D	�&��� ���� �
��3 4
 �	� ��� ���

�������	���� /�	�� �������=

�� ����	�	
������ '	��1	�� 1��	��� ��� L
�� ��� ��� �
��3 	� �	�	����� $�
2

-��� ��� ��� $	?��= 
	� ����� '���� ���� ���
 ��� G�������	���� -4	�����

�
�� ��� $	?�� ������= D+����� �	� $
�	�	
� ��� �
��� 	�������1 �	��� �
�

:��+���� 1���	����� 7������ 	� (	�� ���-�3 	�� �	� ���� ��� �	�-����� $	?���

���� ���	�	���= 
	� 
�� ��� &��� 1�����	�1��� ;������� ��� �	�	����� (	���� ���

	���� G��"���� 	� �	���� G�������	��= 
�� (	����� ������ �	� ��4
����� ��B2

������3 �	� ��� D������������)���� �A����� ��� �	� ;��"���	
�������1��

��� ��� �	&�
�1��� 1����+��	���3 �	� -�� ��1���	��� �	�����& ��� '	��1	���

�A����= �	� 4	�&�� ���� "����&� ��� 4����� ��� ��1���1� ��� ����	� H���	�	-	���=


�� �	�	���� (	�� ����� �	� :A�� ��� �����	����� ;""����� ��� ��� R1����+���

��� ����� �	� 	� �	��� D�	�� 1�4����3 �	� ��� ;����1� ��� �	�
�3 �����	
��� -�

��-�����3 �1��+��	�� ��	3 �
 ��� �	�4���= �	� ���+����� "����&��� (	�������

�����+�&� �	���� �	�����& -��+�-�	��=

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ ��



D+����� �	� �B���� ��� '	��� 	� �	��� ���
�	����� ;�� ��� D�	�� 	� �	�

�����	
� �	��������� �	��3 �	�� �	� $	?�� ��� �	�	����� (	��� �	��� ������� 7��2

��� �����4
����3 ��� ����� �	� ��
����	����3 �
�	-
���� ��� ����	&�� ������	��2

���� ����&��� ��� (	������
�� J��	
�� ���2��� ������ //+K ���1�� ����1�� 	��=


	� $	?�� ��-����� '�+����3 �	� � 4	� '������ J5�O*3 �<K �	���	� 1����&� � ��
�2

��� ���������� �	��3 ���������	�� '�+����#= :4	����� ��� �B����� ��� '	������2

�	
� ��������� �	��� 7����� �	���= �� �
������ '��1�	���� �	�� "�
 '��1&����

J�
�3 ��A�3 1���K 1	� -� ���	 ���	������1+��� �	� %� ��������	���	���� ��"�	��2

�	��&�	���3 ���
 ���� ��������	���	���� �
����BE�� �
������� J;�&�	�2

�A�������I/���4	�� �6653 �8K= :4	����� ��� '��1���	����� 1��	���� �	��

'	����3 4����� �	� ���	����� "�)�	&��	��� �
��	������ �������= @��� '��12

���	��� ����	��� 	��	�	����� ��� �	� ������������ �	��������	�= 
	� ����	���

92�B��	��� �B���� J'.�
	���K ���	��� 4	� -��+��	� 	��	������ ��� ��-����� �


�
�
��� 4	�&���� '��14
�&�� ��������	���	���� 
	����= 
���� �	� ������	�2

������	��� ;�"�&��3 �	� 1�	 ��� ��-������ ��� (	���� -��������������3 &
�2

��� �
4
�� ����	��	��� ������	������ $�
-���� ��� ���� �"�-	�	���� ;14�	2

������� -�������3 �	� �
� (	�� -� (	�� -� 	������� ���4��&����� �A����=


�� (	������
� %��
�� 1�������� ��	�� ;������������ ���� ������ �������2

�	����� $�	�-	"	��= 
	� �
�) C
2L�� ��1�	��� �	� ��� 82L�	"29����
�
�	�3

�	��� ���
 �	� ���	 '��1&��+�� 7
�3 /�A� ��� (��� ����� �	� $�	������	����)�2

��� �������� ���=
�

@���� $	?�� ��� 8 LL
� 	�� �	� �	��� �	&�
�	��� ������������3

���	� %��� 9�	�� ��� (	����3 �	� 	� �	� :
�� -4	����� ��� �	�-����� ����
���

������ 4A����3 ���� 1	��4	�&��� 4�����= 
	� ������������ �	��������	� 4	��

��� ���&��	���� �"������ 	� :�	�	���������� ����
�2�	�	��� ��4������= �� ������2

��� �
�	� 
��������	���4����3 �	� 	� �	�	���� L
��� 1�������� ��� 6 ��� 5 ��2

��������� 4�����3 1�	 ��" ���
 	� 9�&� �
� �	��� ������ ��&����= 
	��� '��2

H���- �����4������ �	� -�	��	��� ;���B������+�	�&�	� ��� �������	����

D������������)����� �����	��3 �	� �A� ��� ����� 1�	 �6 �� �������-� 4	��=

D���� �	���� ;���B������+�	�&�	� �
��� �	�� '�A���1����� 	� �	�
"�
%�&�
�

���A�3 ���� %���� (	�� -4�	��� "�
%	-	��� 4	��3 ���	� �	� (	���� &
��	��	���	��

������	��� ��� ��� ����&�	� �
�������� '�	�&��� �	��� 4���-������� 	��= D	�

��� 7��	����� $�	�	" /�B�	�� �����&�3 ������ ,�	��� ������ J
 �66�K3 �	���



&��������	�� A1�� �	� ��
����3 	� C
2��"29����	& ������� ���3 1�4	�&�

��� �	�	���� �����	�� �	�� ������3 ����	����� 4	�&���� :�	���"�	����� 1�	 ���

7�-�"�	
�3 ��� �	�����& �	��� :�	��
�	�&�	� J/�B�	�� �66�K= 
	��� :�	���"2

�	����� 1�4	�&� �1�� ���� �	�� ������ 9����"����- ��� ���	���= 
���� ���

86 (��1���T'�A�&	��� �
�����I��

� :� ��� �
���H���-��3 �	� �	��� ;�
������ ��� ��� '��1��������� ��1��3 4���� 	�� �	�� 	�

;1����	�� A1�� '��1� +�E���=



���-���� �
�� 4	�� ��� ����	�	
����� '	�� 	� ��4	���� D�	�� ���&	���= ��

����� ��� ;��-�	��������
����� ��� �
����� �	���1��= 
�� 7�-	"	��� ��&����

A1�� �	��� ���&	�����3 ���� ��� ���	�� 	�� �	� �"�� �	��� ����������� D	�&2

�	��&�	� "�+����	���= /�B�	�� ��	��� ��� ��� 
	������- ��� 1�	��� 7�"�+�����2

�	
����������� �	�� ������ '
�� ��� 7���	���� �1 ��� ����� �	��3 
1 �	�� ��� �	2

�	���� (	�� �	� ��	��� �B����� 7���	�+������&� A1�����"� �A� �	� 
����������

�
� '	&�	
� �	���= ����"������� 	�� �� ��� /�B�	��� �	��� &�	� :�����3 ���� (	��

>	
�� ��	�� ���������	
� 3���� ��
�� �, +	, J�66�K ��� �	�	����� C	��2
��	2

�	�	
������	�� ������= �� �	���� ���������	
� ������	�	��� >	
�� 	� �)�1
�	���

����	����� ��� �)��
�
�	��� ������	������� '
�� ��� >������ ��� ��1��� 	� �	2

��� '���&��-)&��� �
� �A�� �	������ �1��������� >	��
��1����?3 �	� �	��&�

��� �	� /����	�4+��� "�
%	-	��� 4�����= ;��� 9�
��� 7�""3 ��� ��� ���-�	��

��� #�,������� J
 �66�K ���	��-�	�	� ��� 8*2��2�����	�� ��� ��� C
 ��"

������� ���3 �"�	��� ��� &����� ,�����	& ��� �	�	����� (	���� �	��� A1���B����

7���	��������&� -�3 ��� �	�� &
����"�
��&�	� ��� �	� 	���	�+�� ����� ��� '	&�	2


� ���4	�&�= ;��� ��	� �	������3 �	� 7��	�����	� �
� (����� /��� ����3 4��

�
� ��� �����"������� D	�&��� ��� ���	��� 1���	������ ��� 	��3 ��� 
1 �	� ����

������ 1�	�1�=# 
	��� ����	� ��� �	�	����� (	���� ����"���� ���� 	���� ��"�	�2

��� ����� ��� ��
�	
����� ;��
�"�+�� ��� ���������	���	���� ���4�	-�� ;�2

��
�����	
���	������3 ��� �����"���- 	���� '	���=


	� 4������
����� C+��� ��� �	�	����� (	���� ��� �1�� �
�� �	��� �������

/����=
8

�� ��� '	�������	
� �����	�� �	�� �	� �	��������	� 	�
��
" 	� ���� 7	��2

������3 	� �	�	����� (	������
� �	������ ��	�
��
" ��� ����	&�� ��� �
�	-
����=


��A1�� �	���� �A���� �	� �	�1��1�
�	�&�	������ 	� ��� ������	������ ���1���2

�	�	��� ���	����� ��� '	�������	
� -� �	��� �������� ��� �	����3 �	� �	�� 4	�

�	�� �	�	���� D�	��-�	������ ���4	�&�= 
�� $	?������
� ��� LL
 �	������

&��� ��� �	�� 4	� �	� /��+E �
��������3 	� ��� �	�� �	� ������������ �����	�

���������3 1	� �	� 	� 9�&� ��� (	�����H���- ������� ��� �� �	� �"�	��������
2

��� �1����1�� 4	��= �� �	���� &�	�����	 
	����	
� �����= �����&) J�66�K ����+��

������1 �
�3 ��� (	������
� ���4���� �	� 
��	��&�� 
��� �������&�� -� ���2

����3 �� �	� ;���B���� 	� ���	 ;����� -� 
"�	�	����= �	�� 4�	���� '
�� ���

���4��&���3 �	� ������ �	�
4���������� &
��	�	
�	��� ���3 �	��� 	� ��� ��2

����	����� 9
�����-�� ��� $�
%�&�
�� 1���A����= 
	��� 9
�����-�� �A���� -�

�	��� �	�	����� (	�������������3 ��� (	�� 1�4��� �	�� ��	��� ����	&�� ��� ���

�1= 
	���� (	������������� �+��� 1�	 �	�	����� $�
%�&�	
� �
����+��	� 4�� ���

�"	�-� �	� 4������
����� ���+��� ��� ������	� ��� (	���� 4�	��� -�=

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ 85

8 C	�� �
��� 	�� �	��� /����&�� �����&)� J�66�K=



���
� 4����� $�
-���� ���4
����3 �	� ��� �'	���

&# �)�����	��� �������2

���3 �	� ��� :	��3 ��� �	�	���� (	�� ����� �	� ���B���	� ��� :������ ���-�4�����=

;� ����� ��&�� ��� ����� �������� ���3 �	� ���4��&����� ��� "�
�
����	2

����� $�
-����� ��� �	�	����� >�������� -� A1��������3 �� �	� &A��� $����&�	2


� -� ���&	���� ��� �	� ��� �������	���� (�4������	� -� ���-	����=

:4�� �
�� ��� :�������� 	� ��� 
	������-H���	�+� ��� �	�	����� (	���� %����

�	���
�� �
���� ��&�����3 ����� ��� �	�� �����	���� .�����4	�&������ A1�	2

����4�	�� ���	�	�	����= 
	���� �	���
�� �
���� ��� �	�	����� (	���&H�	�	�	
�

4	�� %��
�� &��� ����� +�����	���� $�������� 1�����	�1��= >	������ �	�� ��

B&
�
�	���� '�&�
���3 �	� 	�� '��� ���A��� 4�����3 �� ��� G�1���� ��� �
�2

4���	� ��� �	���
�� ������	��� -� ������= /������ 4����� 	��1��
����� �	�

;�"�&�� ��� ���������� ��� �
�
��	��� >���A�1��&�	�3 ��� 9�����	��	
� ���


	����	
� ��� (	�������= �
���� ;���������	
��4�	��� 4����� ���� 1�	��-
2

���3 �� ��� G�1���� �
� ����	�	
������ -�� �	�	����� '
�
�""���� ��� ���

L
���������&� -� �
�	�	����= �� �	�� "��&�	���� ;��������3 �	� 1��
�����

�
�� ���	���3 4
 �� � 4	� 	� '��� ��� '
�
�������� � �	��� 	� ������ �	�	� ��

�	�� ��1	�	
�	���� /��������� ��� (	�������	��� ����3 �
����� �� ��� �������

�
� (	����� ��� �"���� �	��� 	��	�	������� ��1���3 ������ �
����� �	�����
2

��� ��� �	� ������� ����	�� 4����� �
����= G���� ��� ��	��4
�� ��
�������-

��� ���	��# 4	�� ��� �	�	���� (	�� 	� �	� F&
�)���� ��� ��������	���	����

9�+���2 ��� 
	���	1��	
����������� �	���1�����3 4
 �� �	�� �����
� 	�� �����2

���3 	� L
�"�����"	��� 
��� 
>
� 	�����	���=

;���B���� I ���+���


	� ;���B�����&�"�-	�+� �
� �	�	����� $�
-����� 	�� ���-�	� /��������� �	�-	2

��� 
�1�����= �� L
������1���	�� 4	�� �	� ;���B���� ��� LL
� �
��� -��

W���	�+��&�	���	�� ���������	� ��	�	�	���3 ��� ��� �����������	� ��E��1�	��

1��	�������=

9���+���	�� 	�� �	� '���� ���� ��� ;���B�������������� �	��� (	�����	���

	� ��� 9��
�	� ��� 	� ��� $��?	� 4������	�� &
�"��?��= �	� 4	�� ���� 	� '����

��� C	��2
��	�	�	
�2'
����� �	��� ����	� ����� ��� :�����4��� �
�

5��6?56O6 $	?��� ���	�	���= G� ������	����� ���	�� �	��	������ ������	����

-� &B����3 ���� ��� �	� ���-� ;11	������&���� 1��A�&�	���	���=

'A� �	� �	�	����� (	��������&H�	�	�	
� ��� 24	������1� �	�� �	���

• �	� R"�	&

• ��� LL
 I �	� LL
�

• ��� �"�	�������	��

• �	� 
����4��������� 	� $
��"�
��&�	
��"�
-���

8� (��1���T'�A�&	��� �
�����I��



• ��� D	������1��)����=

�� ��� ����	�	
������ '	��"�
��&�	
� 	�� &�	� D������ 4	� ��� LL
 �B�	�=

@���� ������� ��� ;11	������&����3 ��� �	� �	���4����� 	� �	�� 1	��4	�&����

�����	��
�� A1����+��3 ��� ��� �"�	�������	�� �	�� ���	������E�� 	� ��� '	�2

������	
� ����	��= 
��-�	� �	�� �1�� �)1�	�� $�
��&�	
���
���� 4�	� ���2

1��	���3 	� ����� �	� (	������� -4�� ����
� ��� '	�� �����-�	�����3 ������ �	2

��&� �1 .����	� 	� �	��� �����	��"�
-��� �1�������� ��� 	� �	�	����

���
����	
��� A1���A��� 4�����= (�	 ��
E�� $�
��&�	
���3 �	� �	�� 7�	�� �
�

9�	�&1���1�	������ 
��� "��&������� '��12�	���1���	������� J�2�� ����


��

������K 1��B�	���3 �	�� �
���� �	����
���� �	� 7����= �� ��� 
	�&���	
�

�� ��� ;���B�������������� ��� ������	������ �����	��	�� ���� ��� %��
��

1��A�&�	���	���3 ���� 	� ���
"� � 	��1��
����� 	� &��"" 1�����	����� $�
��&2

�	
��� � ��� B&
�
�	����� /�A���� �+��	� ��� ��"��25< ������� 4	��= 
��

>�����	�� �	� 8*2��2�����	�� 	�� ������1 ��� 1��	��� ����1�����=


�� (	������ ��� �I82:
�� LL
�3 �	� ���-�	� 	� ��� C
2;������� ���4��2

��� 4�����3 ����"�	��� �����+�� ���%��	��� �
� ��"��25<= ;� �	� R"�	&��

4����� ����"������� ���� �
�� ;��
��������� ��������= ��� ;���B�����������2

��� ���� �� �	��� '�&�
� �=� 1����� ��	� ��� %���� ���&B���	���� 8*2��2

R1%�&�	��= �
�������� *
�#� &�����3 �	� �
� '�%	 
��� �
� :�	�� �����������

4�����3 ���A���� �	��� ;��
��������� ���+�����3 �	�� �1�� �������� ��� �?2

���� �
��� ;��
��������� �� �	� /A�� ���� &
����	�����	� 	� ��� C����������=

�	� �	��� (	��	��
����	
� �
� ���
���	��� 5��6 ? 56O6 $	?���3 �	� �
� ���2

�
� ������� 4�����3 	�� C
 �
������ 8*2��2�����	
��� �����	�� ����������3

�
� ����� �
��& 1����"���3 ���� ��� �	�� ;1��������B���� �
� �& J�6�< ?

855� $	?��K ���� 1	������������ .������ ��� (	�������	�� ��+H��� ��������

&���3 �
� ����� �
��3 4
 9
����� 
��� ������ (	��	������ �	� ��	��� ����&�����

������
��	��� 4����� �
���� JC����&�3 	�� /BB�& �66�3 8<8K= 
	��� �����	2

����� ���
����	
��� �	�� � 4	� 
1�� ����������� � %��
�� ��� �	� 9�	� ��� ����&2

�	� 4	�&����� ;���B����= �	� 1������	1�� ���	��	��3 �	� 4������ ��?	���	�2

�
����	
��� �	� �)���� �
-������ �� ��� ����� �	��� ;11	����������������

����=


�� ;���B�������������� �
� R"�	&�� ��� ;11	���������	�� 4	�� ��"	2

�	��� ���	�����3 	���� ��� �	� ����	&�� ������	������� ������ �
� ���4��-��

��� 4�	E�� �	�	�� ���-�	����� ��� ������	�E��� �	���3 �	� 4������ �
������

�	� �	�-����� �	�	�� 	� �����	�� �
�� ��-�	����� 4�����= 
	� ��1�	 ���	������

�
�����	
��29�������2'��&�	
� �9' �+��� �	�� �	� ��� 
	����	
��� �	2

�	��2$����� "�
 �	��	����� J�"I��K ��� �
������ 	� $�
-��� 1������	1��= ��

�	��� �
����� >�����	�� �����	��� C
2��" �����A1�� 8*�� ��� ���	���A�	�

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ 88



���������� �1= 'A� C
 4	�� �	�� �9' �
� �� �"I�� 1�	 �6S ������1��

JC
���A���� �6653 <K3 �A� ������� �]7 *6
 �6 �"I�� 1�	 *6S= >�����	���

��� ��� C
2�����	��3 ������ ��"�	���	��&�	� �	� �*6 ;�; ������1�� 4	��3

�	� �	��� +���	�� ��"�	���	���� '	�������	��3 4	� 1�	�"	���4�	�� ��� �
��&

>	�	
� �*6
3 	�� ��� G�������	�� �	��� ���� �	��	�	&���=

D�� 1������� �	��� �����	����� $�������� �A� �	� ,�����	& ��� (	����X D	�

4	�&�� �	� �	�� ��� �	� $�
��&�	
��"��?	� ���X


�� ����&� 	�� ���&4A��	�N &���� /����-�+E	�&�	��� ������ �	�� �	��� �����2

����= 9�	�4�	�� 4����� 	� �	�	����� ;�������"�
-��� 4	�-	�� 
���	�� �	���2

1��3 �	� ��� ��� '	�� �	����� ����� 4A���3 -�� (�	�"	�� $���� ��� ��� /�2

�	��� �
� ������"	�����= R1����+������?����� 4	� C
�-���������� 
���

��?�	�� ����&����� ������ �	�� �	� ��	������	��� ����
�	����� ���
����	
���

A1����� �����	�� �11	����= 
��� 4	���� ��� ��� ;""���� �A��3 �	�	����� ����&2

����� 4	� /�������� 
��� D�	-�������� �	���	�� "����	��� 	� 	���� �	����� +�2

����	����� L����&���	��	& 4	����-���1��= $�B�-�	�� 4	�� �	�� ���&��
�	���3 %�2

�������� &A����	�� ��������� >�����	�1��� ��� (	���	�����&� 4	�&���3 �	�

�	�� ��� ��� �
�����	
��29�������2'��&�	
� ����	� �	��� ��&�+��� �+���= �� -�	��

�	�� 4	� �
 
�� 1�	 �����	����� D��������"�
-�����3 ���� ��� �������	���

D������������)���� 	� ;11	��������������� ���- 
�����	����	�� ������

���&�	
�	��� ��� �	� 9����	&3 4
����� �	�� 	� ��4	���� (���	���� �����	��� ��2

����� �	�	���� ;14�	������� ��� ���A��	���� ����� 
��� CB��� ������	�2

���� ������ ��������������� ��� ��� 7�-�"�	
��"�
-��� ��"�	���	�� ��B���= 
�2

�A� �	1� �� �1�� &�	�� �1�
����� �����
�	��= ,�����	���� G�������	��� ������

�	�� �	��� ������	������ ���������� �	� ��� :	��3 �� ���� �	�� ����� -� ��2

������3 �	� ��� �	��� 
��� ������� $�
-��� &��� ��� ��� 1������� ���	�	���� 4A�2

��= >	������ �	�� ���� �	��� �����
�	�� 4�	������� �
� �
��	�	
�	������� �12

�+��	�3 �	� ����� ����	�	
����� ��� &��������� '�&�
��� 1��	��� �	��=

���� 4�������	��	�� �	�� �
���� ��B������ (	���	���A�&� ���� ��� �
�2

"����	
��"�
-��� -�-������	1�� ��� ��� ;���B�����&�"�-	�+�= 
�� ������+�-2

�	�� �����"�������� ;11	��������������� ��� �	�	����� 9����	&3 4	� 	�� �� 	�

;1����	�� �$	?�� ��= �
��# 1�����	�1�� ��1�3 �+��� �+���� 
�����	����	���� ��2

����	���3 -��	����� �A� %��� $�
��-����� ��� 7�-	"	�����3 �	� �	�� �� �	� ���2

�	�	
������ ;11	������"�
-���� ��� �	�
� ��4B��� ��1��= �� ������� (���	2

���� ��� �	�	����� (	��"�
��&�	
� � 4	� -�� (�	�"	�� 	� L
�"�����"	����3 	�

����� ��� (	�� 	� "��&�
 
���	������ ��� $�
�
����	���� 4������	�� ��1���	�2

�	����������+��� � ����1� ��� �	��� �	�����+�&����� ��� 4��	��� ����+��	�3 4�	�

�	�� �	� ;11	�������
��� 	�������1 �	��� �	����� &���������� 7������ ���4	2

�&��� ��1��=

8� (��1���T'�A�&	��� �
�����I��



�
�"����	
� I ;�����&��

(	� ����� 	�� �� ��� 1��	��� �B��	��3 (	������� 	� C	��2
��	�	�	
�2;���B����

��&
�"�	�	��� ���-�-�	�����= 
	� >
���������3 ���� �	�� �	�	���� ���
����	
2

��� 1��	�1	� 
�� &
"	���� �	�E��3 �	��� %���� �)����3 �	� �	�� �� ��� �	�	����

(	�� ���&��3 	�� ������1 �	� ���-�	� �
�� ������	����� �����= 
	� �
�)2������

C
D2'�66 &��� -4�� �	� 
���� ��&
�"�	�	��� ��� 5621	�2'	��� �����1��= (�	

5��6 ? 56O6 $	?��� "�
 (	�� �A���� %��
�� 
�������B�� �
� ��= 5O* �(I� 	�

����-�	� �����1�	��� 4�����3 ���	� ��� �	� ����������	 �"�	����� &���= 
�� 	��

���T������1���&��������3T4	�T�	�T	�T���T"
���1���T
�����&H�	�	�	
�T-��T�	�2

���- &
����3 �	��� �B��	��= 7��	����� ;��&������ �
&��
� ��� ����������

9	���� (A����� ��1�� ������1  ������ #��3 �	��� &
�"��?�� �
��A��	��3

��� ��� �	��� �	�-	��� �	��������� 1������ ��� ��� ��� 	�� �
�� -��A�&&
����

4����3 �	��&� ��� '���"����� �����-�	�����3 �	� �	��� �)���� ������

���2L	��C
# �
� �
	����
� � '�	���#3 ��� ��� �	�� ��� �	��� �
���� �	�������

/�BE� ��� 7
���� �
�������� &���3 ��� A1�� ��1�� �	� ��� ������ ���1�����

�	��������""� 4����� ����=

;� (�	�"	�� ��� �
�) C
D2'�66 ������ �	�� ��� $�
-��� ��� �
�"����	
�

�
���������E�� ���� :��+���� 4����� �	� 
����3 �	� �
� ��� ���	 LL
� �	�

��� '��1	��
����	
��� 7
�3 /�A�3 (��� J7/(K ���	����� 4�����3 	� �	� �
��2

������� �
�"
�������	���� JUL�L1K 	� O2(	�2�
��� �����������= 
��

�
�"
�������	���� ���-� �	�� ��� �	��� $�������� �A� �	� C���	�&�	� J���	2

���- UK ��� -4�	 $��������� �A� �	� '��1� JL��
�	���- L�3 L1K -�������=

����"������� ��� C���	�&�	����"�	���	��&�	� ��� �������	���� ;���� �A� ���2

���	����� D������+���� ��� �	���� 4	�&�� �	�� �	� ���	 '��1�� ��������	���	��

��� �	� ���	���- ���= /�A� 4	�&� �	�� ��1�	 4������	�� ��+�&�� ��� �	� C���	�2

&�	����"�	����� ��� ��� 7
� ��� (���= 
	���� 4�����������1��	����� ��"2

�	���	��&�	�������	���� 4	�� �	�� ��4	������ >���������� ��� ���	���-	��
�2

���	
��� �������3 �	� �	�� �
���������E�� -����������-�� U^6=���7 _

6=*O�/ _ 6=55�(= 
	� L��
�	���-&
�"
������ L� ��� L1 �	�� 
	������-�	�2

���� �A� �	� '��1&
�	����� 	� 7
�2 ��� (���&���� J�	��� ��-� $
)��
� 5��<3

�8��K3 �	� ��� ��� 41515.����	#2���� 1�-�	�����= >	�� $	?��� �	� ��������	���	2

���� ���	���-	��
����	
� JU
6
3 U

5
3 U

�
3 U

8
K �	�� %� -4�	 (�B�&� �	� ��� L��
�	2

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ 8*



���-	��
����	
��� L� ��� L1 -���
�����= �� �+������ ����	��3 ��� �
��2

������� *
������
���3 �	���� �	�� 4�	���� 
��������&�	
� ��� 5��6 ����	&���

:�	��� 	� '
���� 8�5�5 �����= ;� L��
�	���-	��
����	
� �	�� ���	� �
�� �O6

����	&��� :�	��� �
�������= :����-� 4����� (�B�&� �
� O?O $	?��� 	� +���
�.

��./�����.'
	����
��
�	�
�� �
������ -�������������� ��� ��������	��� �


����)�	���3 ���� ��� >��+��������� &
�	��� 4�����= 7������	��� ������� �	�2

��� 	� >������ ��� �������� ����� �	�� 
��������&�	
� �� ��� '�&�
� ��5 �����=

:4�� 
�	���	��� �	�� ��� ������� �
�"����	
����������� 4�	� ������ ��

�������	���� D������������)����3 �
�� �	� �
�"����	
� �
�� �B��	����

����	���1��# 1��	1��= 
���
�� 1	���� �	�� 	� 1���	����� �	����	
��� ;�����&2

��3 ���
 '����� 	� ��� (	��	��
����	
�= 9��
���	��� �	�� �	� ;�����&�� �
 �	���2

�	
�	���3 ���� �	� ��������1 ��� D��������������4���� �	����= 
���
�� �	��

�	� 	� ��4	���� (	����
�������� �"A�1��= 
	�� 1���	��� �������	�� ���� ��	��

(	������&����� �
4	� ������ �	� �
��� �
��������3 4	� �	� �
������� (	�����2

����	��� 	� >����BE����� -�	���=


	� �	���1��&�	� �
� ;�����&��� 4	�� ������+��� ����� �	� �
�	-
���� ���

����	&�� ������	������ ;�
������ ��� $	?��3 4
����� �	�� �� �	��
��� ������2

������ ����&����� �	� ���
6 ��������� ����&� 1	����3 	� /����� ���
����

8< (��1���T'�A�&	��� �
�����I��



�	�� ����������- -4	����� -4�	 �	������ A1���������� �	�	���������3 �	� ��2

����� -������� &
���3 ���� ��4	��� ���
����	
��� �����	���+E	� ��� 1�2

����1���� $	?�� �������	�� 4�����=

�	� 4�	����� ����&�3 ��� ��� �	� �
�"����	
� -��A�&����3 	�� ��� �
��������

���22��� 
��� �	�����= 
���� 7������������� 	� D��������"�
-��� 4�����

��	�� &
��	��	���	��� >���+��� �
� '��12 
��� C���	�&�	��������� 	� ������

�����������=

D���� ��� �
�"����	
�����
�	��2

���3 �1�� ���� ��� /�A���� ��� �
�2

�����&
�	�����3 ��� �	� 	�� �
�� -�

�"������ &
���3 4����� �
������� ��

������ �������	����= >	��
&������ ���2

�A��� ������1 A1�� �	�� ���������3 4��2

��� -�� ����������1��� �A���3 ��� �
2

�������� +��	�� ���	���#��� 
���

+��	�����3 ��� �	� �
������ ����1� ���

-�� >��1�������� ��� "��-�"�	���

���+����	�����&� �A���= �+���� ��1��

'	�������	
��� %��
�� ��""���
�

	���2

��	���3 �	� ������1�� ����&� ��-�����3

�� �	� (	���� &���&	��� 4	�&�� ������=


�� �	������ ��� �
�"����	
� ��� �	� ,�����	& ��� �	�	����� (	���� �+��� �	��

&��� ��4	��1�	����� �����-��= �� 	�� �	������ ��� 	� 4��	��� �
������

�"A�1�� ��� ��	�� ���� A1���������� ��� �	�����	��� C	�4�	� ��� ��� >��������

���1�� 	� ������	����3 �	� ����&�3 ��� ���� ���� -� ��	����� ��	� 4	��3 4��� �	�


����A1��������� ��� 2�"�	������� �B����� ;��
��������� ���A��� 4	��=

(�4�����������������

(	��1�4������� ��� C
2L�� �	�� ���-�	� �	� ���	 $�
1����� 1�������� ��

������ �	�� �	� >������ �� 
���	������ 	� (	�� 1�	 ���4��&� ��� '������ �	�3 1�	

��������� (�4������� 	� (	�� ��������� ����-	������ (�4������������&��3

��� ��� �
�������� ������
2
����# ��	�� ���= 
	���� &
��� ������� -�������3

���� -4	����� ��� "�
�����	� ��������� �	�-����� >
��1	����� :�	�	��������� �	�2

���3 �	� �
� ��� ������ �	��� ������� 4�����= �� ��� C
2L�� &��� � ����
� -�

8*2��2������� � ���&��
�	��� �	�� '�A���1����� �	���	��� 4�����= 
	���

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ 8�

� �� ������� �	�� ��1�	 �� 
�72��""��� J
�7 ^ 
����
"�� ���	1	�
� 7�����	��3 ;�&�	�N

/���4	�� �6653 ��K



;�
������ ���������	��� ��� C
2��"2'
���� 	� ��	��� �

& �����	�� �
�

���&B���	���� >	��
���������3 �	� 	� �
��������� !���
�	���.����� %� -4�	

C��11	���� �	��	������ -� �	��� (	�� &
�1	�	����= 
�� "�
�����	�� �
���

������ �	�� 4	���	�� >
�������-��� �A� �	� C���������� ��� '	��2�

&� ���3 ���

��� �	� �	�	���� (	������������� ���� 4	� �
� �1-	���=

�� /�������- -� ��� ����	�	
������ >�������� &��� �	��� '�A���1����� �1��

���� ���� �B��	� ��	�	�	��� ��� ��� (	�� �	� 5I��� 1��	����� 4�����= �	� &��-��


��&��	�������� 	�� �
�4���	�3 ���	� �	� ���
����	
� ��� ��� ����
��� ���

LL
 �� �	� �"�	���� �1����1�� 4����� &���=

�� �	��� >
��A����� �
� C
2�����	�� 	� $��	� �	�� �	� 1��
����� ��� >������

�� 
���	������ 	� ��� (�4������� ���= 
	� :�	������ 4���� �
�
�� ����3 4���

��� (	�� �	�� 1�4����3 �	� ����&�3 ��� ��� ������ ���
 �����= 
�� G�������	��

	� ��� ��1%�&�	� 4������
������ ���+��� -4	����� ����	����� ��� 1�4�����

(	�� ��� 4�������	��	�� �	� ��� $	?������&��� -� ���= 
� �	� $	?�� �	�� ���� ��

R�� ��� ������ 1��	����3 4	�&�� �������� (	���� 	� ��4	���� D�	�� ����4
���

������= �
1��� �	�� ��� (	�� 1�4���3 ���� �	���� ����&� ����
���= 
������

&
��� "��-�"�	� �	� ���� ����&�� �
������ -4	����� 1�4����� ��� �	?�� �	�2

���������� �	��	����	�� ��� ;���B���� -�������= 
	� �"�-	�	����� (�4������2

"�
1���� ��� C
2'
����� ��1�� �	�� �	����3 ��4�� ��4	�&�	�� ���������

;�����������3 �	� ��� �������� ��� ���B� ��"�	���� &���= 
���� ��� ������

���
 �������� �	� ���������� (	����	�� 	� C	��������� ��4�� ;1���
1����3

'�������	���= (�4���� �	�� $���
��� 	� >
���������3 ������ �	� (�4������2

������&�� 	� ������	���� ��� ������ �	� (�4������� ���&4A��	� ������	���

������	���=

D	� 1�	 '	����������� �	�� ���� ���
1
�&
"2����&�� -� 1�
1������3 �	� 	�

(����� /��� ���� 1��
����� 1�	 $�������������� �	� ��� ������ �	���1�� 4��2

���3 	� 4������ ��� C	��������� �	�� "�B�-�	�� �A�&4+��� -� 1�4���� ����	��=

���+�����	���


	� 4������
����� ���+��� �	��� (	���� � 
1 ����
� 
��� �	�	��� � ���-	���

�	�� ���-��	�� �	��� �?�&��� 4	�����������	���� (������	1��� 
��� ������� ���

�+��� �	�� ��� �	����� 1�����	���= �	� 	�� �	� �
���
����� ��� ��� ;���B����3 ���

�
������������� ��� 4�	����� ;�"�&��� 4	� ��� �	����������� ��� 2�����	����=

R14
�� ��� C
2�����	�� ���������	��� 	� "��&�
 ;���B���� ��	��� �������2

��� �1�����	��� ��� ����"�������� '	�������	��	��3 4	�� �� �
�� ��� ���+����

4������
����=

:� �	���� �	�����& ��+�� �	� ��BE��� ���+�����	��� �
� C
2��" 1�	= �	� 	��

"�)�	&��	��� 	� ��� '�+��� ��� �I82:
��2LL
� 1���A����3 ������ 
	��
���� ��

8O (��1���T'�A�&	��� �
�����I��



�	��� '�&�
� �3� &��	��� ��� %��� �
� 8*2��2'	�� 	��= D����� (	����	�� ������ ��2

����	���3 4	�� ����� ��� -��+��	��� :�����������&��	� J2�
#������� ��
��� ��

���������K ���	�	���= $�)�	&��	��� ������� &��� �	�� R"�	& ��� �	�� �	�-	��

�1��� ������ �11	����= 
�� ;��� 	�� %��
�� �
��������= @� ���� (������������12

����� &��� �	� ��� ������ 4������
������ $��&� �	�� ��4	��� ;���������

��1��3 ��� ��	E� ��� ���	� �1��1	���� 4�����= 
�� -��+��	�� :�����������&��	�

1������	1� ���
 �	�� 9
�����--
��3 4����� ����� ��� ;���B������+�	�&�	� ���

;���� 1��	1�= 
	� ���+�����	��� 1��	��� �	�� �������3 ���� $��&��3 �	� ��� �1�2

��� �
� 
��� �	���� ��� ���+����1��� �	����3 �
����� �
�� ������ ������	���3 ���

	��� ;��������� ��� -��+��	��� :�����������&��	� �	��� A1�������	���= �	� 	��

�	�� '��&�	
� ��� (����4�	�� ��� ��� (������B������ �	� �
������� /����-2

�+E	�&�	���� %� ��BE�� �	� (����4�	��3 ����
 &��	��� �	� ���+�����	���N %� &��	2

��� �	� (������B������3 ����
 ��BE�� �	� ���+�����	���=

.�� 	�� �	��� ���+�����	��� ��� -4�	 /�A���� ��� ��� C
2'
���� �����	��

��BE�� ��� ��� 8*2��2�����	��= :�� �	��� �A���� � 4	� 
1�� ��4+��� � 4����

��� &��	��� '�+��� ��� LL
 �� ��� '�&�
� �3� &A�-��� (����4�	��� �	������-�

4�����3 ���	� ��� ��� ���	���� ;11	��������E���1 ���+��N -�� ������� �+���

��� $�	������	����)����3 ��� � 4	� 	� ;1����	�� �$	?�� ��= �
��# 1�����	�1�� �

�A� �	� ;����	���� ��� �	���� 	� �	� ���	 '��1&��+�� -���+��	� 	��3 &�	�� ��BE�2

��� (������B�������� ��� 53� -�=

'A� �	� ,�����	& ��� �	�� �	������	����� �
���H���-��= 
	� ����&�	�� ���+�2

����	��� 	�� �	� 4������	���� ���������� ��� ;�����&���&�	��2���&���= �	� �	2

���	��� ��������������� �A� ��� 7�-	"	����� �	�� ;�����&���&�	�������������3

�	� ��1� ����
�3 4�� �A� �	� .�����	
� �
� (�������� 	��3 ��� �+��� %��� ������2

�� 	� >
����2 
��� C	��������� ������4	����3 �	� ��� :�������� ��� ���2

�	����� "�+���� ��	� �
����= �	� 	�
�	��� �	� ������������ '	��� �
� 	���� G�4���

��� ������ ���	� �	�� >��1	����� -4	����� '	��� ��� 7�-	"	��� ���3 �
� ��� ��

4��	� ;1���&��� �	1�= 
	� �	��	���� ,�����	& 4�� 	� ��� ���-��� -4�	 @���2

-������ �
� �	��� 9�����- -�� 7���&�	
� ��� 9	�������+��� ��"�+��= �	�	����

���+�����	��� �A��� -� �	��� "����	����� 9������� �
� '	��� ��� C	���������=

�	� �	���� �	�� -� ��1%�&�	� �	����+�1��� 
�����������4�	���3 �	� D������2

�����"�
-���� ��� ��� $���"�&�	�� �	�-����� '	���	����� ����-�	�����=

/�
E� ���+�����	��� ��� ��� ������� ��	�� ��B����� ��� (�	�& ��� �	� ������&�	
�

��� '	���	����� �	��	������ ���I
��� �	� ��� 7���3 	� ��� �	� ��1�� ��� ���2

����= �� �	1� ���A���� (�	�"	��� ��� ��� '	�������	����3 	� ����� �	�� ��
E� ���+�2

����	��� ��� ��-+��������� �	������-� 4	��= ;� 1�&��������� �A���� R��
� D����� 

0���2�� ���� JG�; 5��5K ��	�3 ��� �	���
� �	� ��?	����� ���+�����	��� 
"��	���3

�	� ��	�4�	�� �
�� ����� �	����- �
� �2�������� ��4�	���� 4	��3 �
 ���� �
� /��� 	�

>
��������� 1	� -� R1%�&��� 	� ���-��� D	�&�� ��� 7���� ����� ������ ������	��=

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ 8�



/�����+�-�	�� �	1� �� -4�	 �B��	��&�	���3 �	� ��� ���+������������ ���

C
2L�� ��-������� ���4���� ��� &+�"�� ����� �	� ���+�����	��� �	� ����2

�	����� �	����� �� 
��� ��� ���-� �	� ��-	��� �	�= �� 1	���� -��+���	���� �����2

�	�4� ��� ����������1��	����� J-= (= �#�
��	� /���#	���
	2��
 �3 �665N $
�2

-�� �66� ��� ������	������ ��������H������K 1������� �	� ����������� �	�

��+��	�� D	�&��� ��� ��
E�� ���+�����	���= �	� �	����- �
� .
2'	����� ���

����& ����&�	��� �	����A����� 1��A��� �	� �	��3 �	�� �+���	��� 9������� �
�

������	������ (	���1���� ���1�	-��A����= 7��	�����	� ;��� ��	� ��� ����2

������ ���� '��	� ��1�� 	� (����� /��� ���� �	��� ������� D�� 1�����	����=

�	� ��1�� 	��� #���.��.��7�� 1�4���� ��� ���+������������ ����"���� ��� -�	2

��� �	� �	������+��	���� �	������3 	� ��� �	� %������	���� $�
���
�	���� 	���


����� ����1��3 ��� �	��� ��
����	����� 7���3 ������ �

��	����� 
���� �	�2

���= 
	� G�4��� 4	�� �
 ���1�� -�� '	���= 
�-� ���B�� �	��� ��� �	� ���"�	����

�	������ �	� 	���� ����� ����������� >
��+����3 �
����� ���� �	� 2��
.�
��23

����� �	�����	�� /����-�+E	�&�	��� %���� ���	�	���� �
�
�� �	��� $���- -�2

4�	���3 �
�� 1��
� �� �	�� L����� ���+��3 �	�� 	� ��	��� >	�����	���	�&�	� -�

���������= @��� (�4����� ��� '	����� 4	�� �
 -� �	��� ����� 1�
1��������

;����	�� 	� �	��� �)����3 ��� ��� 7�-	"	��� ��� /��-�� A1��������� &���= $�)2

��	���� $�
-���� 4����� ���	� �	��� �
� 	���� ������ � ����� �	�� ��1%�&�	�	�2

����� �������A����� � �"A�1��3 �
����� ����� 	��� �
-	��� (��	�����	� 	� ���2

���	������ ;�
��������3 	� ��� '��	�	�3 	� ��� 2��
.�
��2 ��� 	� ��� ������=


	� >���+���	��� ��� >��&�������� ����1�� �	�� ��� �1�� �	���� �)������3

����� �	� @������	���� � ��� A1�	���� ���� 	��� ������3 �	� ������
 ���4	���

������� � ��� ����� ;���������� �A� &��-� �
����� ����	���� &B����=


	� �-����3 �	� �
� �	���� &��-�� �
������ �������3 4����� �	� �+������

(����4�	��� ������
����= ����"������� 4	�� �	� ������� ����&� �	���1��3 ���

�	� ��� ���+������������ ��� �
�)2C
2L�� -��������+���= >
����2 ��� C	�2

�������� ������	��� �����	�� �
��	������ ��������3 �
 ��� 4A���� �	� �	��� -� �	�2

����� ���B���= (��
����� 4��� ��	����� �
�����	��� 	� ��� C����� �	� �
������

��4�� 1��
��3 ����� �	� (	���� 4	� -������������-� ���3 4	� 	� �	��� /�#2���.

����2$�
-��� �	� 7A�&"�
%�&�	
� 
��� ������
��� �����������= :4�� ����� ;���

��	� �	��� ,�����	& �	��� 1��1�	���	��N �	������ 4���� �	� A1���������� ���	�

&
���
��	���= �	� ���� ��� �

& �1�� 1���	����� ���3 4�	� �� 	� �	���� �
������

�	�� +�����	��� 1��	���� (	������"��� �A� �	� �B��	�� �
����B����	� ��� '	����� �
�

��� D��� ��1	����= 
	���� �"�-	���� �

&3 ��� 	� ������� �
������ ���� �)"�����2

�	��	��� 4	�&�3 	�� %��� �	�����	� �
� C
3 �	� ��� '
���� �
� ��4
����� (	���	�2

��A�&�� 	� ����
��� ��� 1	����	��� �	�	����� '
������ ���������	���=


	� ���������� (	����	�� 4����� �����	�� ������ �1��1	���� ��� 	� ��� ����	�	
2

������ '	����������= 
	��� ,�����	& �+��� �	� ��� �"�+�	����� ;1�����	
���

�6 (��1���T'�A�&	��� �
�����I��



��� �	����3 �1�� ���� �	� ��� �������� 	� '	�������	�� ���1�� -�������= 
�2

�A� �	1� �� ��� (���	�� �����=
*

/���� ����� -�	����� �	�� ������� ���3 ���� �	�

:�����������&��	��3 4	� 	�� �	� 
1�� 1�����	�1�� ��1�3 	��� ��BE�� 
	���� 	�

:������ ��1�� ��� ���� ��E�� �	� �������� ���������= 
	� C
2R"�	&�� �A�2

��� 4���� ��� $�	������	���� �	� �	����������� �	� �	��� &
�"��?�� 7���
�
2

&��2;�
������ �
 ����	�����3 ���� �	� �B��	���� ���&����� ��� ��� $�	��� ���2

�������3 ���	� &�	�� ����4A������� 7����?	
��� ���������= 
�� ��� ���A��	��

���� �
���H���-�� �A� ��� ����� ��� &B���� ��� 1��
������ �

& ��� G�2

���+��� ��� C
2��" -��	����� ��	�4�	�� ��&�+���= �	� 4�	����� /���� ���A�

&��� �	� ��������� 
	����	
� ��� �	���� ��� ��� L�	" ��	�3 �	� ����� �	�

�������� (�����-����� ��� �	�-����� $	?������
��� 1��	��� 	�� J�	��� ��-� ;12

����	�� �$	?�� ��= �
��#K=

�
���������������

�� >�����	�� �	� .����	��	�� 	�� ��� �
������������ ��� C
2�����	��� �	���2

����+�&�= �	� ���� ���� (������ ����"�	��� �� �����+�� ���%��	��� �
� $
�	2

�	������	��3 �
��������� 8#���
���#� ��	�	��� 4	�� �	��� �	��������� 	�

�	����	
���3 	� ����� �	� �	���H������ �	��� �
����+��	� &
���
��	��� 4�����

&B����3 -�� (�	�"	�� 	� "������ �
�����	���3 	� /�����	����	����	
��� 
��� 1�	

����&�� �	���H������ 	� .�������������=


�� �
��������������� �	��� ;��-�	������������	��� 4	�� ����� �	� /����2

�	
� 1���	���3 4����� ��� �
���	���	���� >���+���	� �
� R1%�&�&
������ ���

(	��&
������ ����� �	��� D��� /���� 1������	1�= :� 1��A�&�	���	��� 	�� ��1�	

�	� ������� ;�������2 ��� D	������1�&����= (�	 �	��� /���������� �
�

�	�� ����"������ R1%�&�2 ��� (	��&
������ �	������3 �	� /���� &��	��� ���

�	�� �	����� �	� ������3 �	� /���� ��BE�� ��� �	�� �	� ������ (	��= >	��
�
����� �

���� �	� �	�	����� � 1�������� ��� /���� 	� 	������ D�	�� ��� ������ �	�	�

-4	����� ���4��- ��� D�	E= �	�� O21	�2W����	�	����� �	����� ���
���	��� �*<

C���	�&�	��������= ;�� �	��
�	����� /�A���� �	�� �� 	� ��� $��?	� �5� ������3

�� ���4��- �	� 5<3 4�	E �	� �8* &
�	��� 4	�� J$
)��
� 5��<3 ��<N (A�����

�66�K= G�&
��	�	��� 4	�&� ��� C
2(	�� ����= 
	� $���� �A���� ������1 	� $
��2

"�
��&�	
��"�
-��� 1�	 ��� �	���1���	����� �&��	��� 4�����=

;����� ��� �	� >	��
�)���� ���&�	
�	��� ��� �������	��� D�����������2

�)���� %��
�� �	��� �	����= �� 4�	�� 	� ��� �	������� /��������� �	�� �	������2

-	������ C���	�&�	�����������	���� ��� 	� ��� ������ ��� ���&��� (	�����	���

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ �5

* �	�� ���� (������	1��� ��� ����� �	���� �	�� ��� ���"�II444=&���
�&4���=�
�I����I1
&��



���= '	�������	�� 4	�� �	���� �	�����	� ���+����� �������3 �� �� 	� ��� /���-2

1���	���� �	� �1���������� /���� ���4�	��= �� ��� C
2L�� &B���� �
����

L����&���	��	&�� ����� ���&��
�	���� '������� 	� ���� ���������� 4�����=

�
4
�� ��� /���� ��� ���4+�-�� J��	��.3	##	K �+��� �	�� %� ���� ��2

4A������� ����&� �	��������3 ��� ���� �	� /�������&�	
��� 	� �"	�-�	���1�2

��	��3 �������	�� �	� �+��	���� ��� '��1��3 �
4	� ��� ��	�&"��&�3 ��� ��	�

J����K3 �� ��� �	� �	��
���� /����&���� �1�������� 4	��3 �� D���� 	� ���

������ (	����	��� 1����� 4	����-���1��=

D	� ���� �	�	����� ;��-�	���������������� 4�	�� ��� C
2'
���� �	�� ���	&��

�	�	�	����� ��� ��?	����� �	����"����� ���= �� �	���� �	� /��22��� �����= 
�1�	

4����� A1����A��	�� �������� ����� �	��� R�����
42
��	� ��� ��� LL
 �12

���A���= (	����+����3 �	� ��� C
 ���� ��� -4�	 (������ A1��1��	����� 4�����3

������� ������1 ��� ��� ��������� A1�����"� &�	�� :�	������ ����= (�	 .����2

��������� 1�	�"	���4�	�� &B���� ����&� �	���H������ 4	� ���������	���� ���2

�����= 
	� (��	������ 
�	���	��� �	�� ���
 �� ��� ������ (	����	���3 4+����� ���

�	� �������� ��������� ����=

C	������ 	�� ��� �	�	���� �����	�� ���?	1��� 	� ��� ;��-�	������ ��� ��������3

���� 4��� ���� '��	�3 �	� ���������� �
� (����� /��� ���� �	� ���4+�-��

��� ������ 1������	1�3 �� 	���� 9	��� ��� '
�� �������= �	���) ����� 4	����2

�� ������ �	� '���������	� $55 0����� ������ JG�; �66526�K �	� �	��� ��2

���1�� �
� ���
����	&��	����� ������"	����� ��� C
 ��� 4�� 1���	�����3 4	�

C
 ���&�� C��� 	� ����� 	���� .������ �������3 �	� 	� "�
�
����	����� $�
2

-��� ��� ���4�� 4	����-���1�� �	��= ;��� $�	�	" /�B�	�� J�66�K 1����� ���

��+��	��� ����&� 	� ��� ���&��� (	����	��� ��� +�����	��� A1����� -���	���� ����2

���� ��� �����	1� 	�� �	�� W���	�+� -�3 �	� �� F����+��� ��	�����= ;�� /�B2

�	��� �	��� ����	�� C
 	� �	��&��� >�����	�� �	� 8*2��2'	�� 	� �
42��)2

(���	�� 1����� �1= ���� �
��� ����� ��� ��"�	���	��&�	����������� �
� C


��	 �� �A� 	�� A1�����"� ���� �B��	�� ��4
����3 	� �	��� ��
���� 
��� �	��� -�

������N ����������� 4+�� ��� '	�� ��� �	��� -� ����	�	���� ��4����=

.��� 4��	��� 9�������� 	� >
����� ��� 
�����1�	��� -� (����� /��� ����

����� ���� '��	� ��� �"�-	�	���� �
��������������� ��� C
2L�� 	� /�	�� ���

&
���� %��� �	����	����	
���3 �	� ��� 1��
����� ���4	��	� ������3 �
����+�

��	�����3 	���� �	� �	� �	�����	��� ��� �����	��� ��-	��� �	����-��3 ����� �����

�	� ��-���1�	���= �� /�����	��� �	�E �	� �	� '	����� ��� �	��
������ �
� �	���

4�	E�� A1����������� C	��������� ������	���= 9�
�- ��%.������2(��	����2

��� �	�E �	� A1�� ��� ��	���� 	� �
�����	��� �����	������� �-���� �	��� ����

�"�����3 �� ��� �	��� -� �	�����	����3 
��� �	� 
������ �	� $���
��� �
 ��3

���� �	� �
��� ��� �"	�-�	��� �
� �	���� 4	�&��3 ��� ������ ���	��-�	�	� ��� >
�2

�������� �	� �	�1�������&�
��� ���= ;� 1�����3 �
 ���� '��	�3 ���� �
�����	���

�� (��1���T'�A�&	��� �
�����I��



�	� �	��� ���- �A���� D
�&�����	��� ���= ��������� ��������� �	� ���� �����


��� �	��&��� �	��� ��� ��� ���4������ &�	�� ���������"��� �;��
 ��� 4�	��3

4�	��3 4�	��3 4�	�� ��� ������ ���� 4�	�� ��� �����1��	�����= ��� ��1� ���2

��� ���� A1��1��	�����3 ��� ��� ��� 4	� �	� 4��1������4���	���� (	��=#

�� ���� �	������4����� 
����	����	
��� � �������	�� 	� 	�"�
�	�	����� ���

�
&�������	����� � �+��� �	�� �	� ��"�	���	��&�	� ��� �	�	����� ������ �����

�	�� -�������1��� >����+�&��� ���B���= 
��	� �����+�&� ��� ���A��	�� ����

��� �	�	���� /������������3 4�����1 �	�� >����+�&��� �� < �( 	� +�����	2

����� C	��	��� ��� /���-� ��������� 4	��=

'��1�


	� '
������������ -�� ,�����	& ��� '��1� 	� ��� �	��	����� ;11	����� 	��

��������&��� �A���	�= :4�� �	1� �� �	��� G������������� -� ��� �����	�����

$�
-�����3 �	� ��� '��1�������� ��� 24	������1� -������� �	����= 
	� '����

%��
��3 4	� �	��� $�
-���� �	�� ��� �	� 7�-�"�	
� ��� '	��� ��� �	� ,�����	&

��� (	���� ���4	�&��3 1��	1� 1	� ����� 4�	� ������ ��1����4
����=


	� "�
�
����	���� ��� �	� �	�	���� '��1"�
-���	����� �	�� �	��� �	��	�2

����� ������	��1��3 �1�� 1�	�� �)����� 1�-	���� �	�� 	� 4�	������ �	��� ���

/����-�+E	�&�	��� ��� �������	���� '��1��������3 ������ �	�����	��� 	��

�	�� �	��� 4�	��� ���������� 4	��= D	� 	� ;1����	�� ��
�"����	
� I ;�����&2

��# �����������3 4	�� ��� C
2�	����3 ��� �
� ��� ���	 LL
� �	� %� ��� '��12

	��
����	
��� �A� 7
�3 /�A� ��� (��� ���	����� 4	��3 ����"������� �	����

/����-�+E	�&�	��� 	� �	� �
�"
�������	���� �����������= 
	� ���
���2

�	
���3 �	� �
� LL
 ���	����� 4�����3 �	�� ������+�-�	�� �	���� ��� �A�2

��� &
��	�	��� 4�����3 ���	� �	� ��� �	������� �)���� ��� �������� 1�����

����"������= 01�� ��� D�	E�1���	�� ���� ��� -��+�-�	�� �	�� '��1&
���&2

��� �
�������= 
	��� 1��A�&�	���	�� �	� '��1���"������ ��� �	���� ���

�������	�	��� �	�3 	���� �	� ��������� D�	E"��&� 	� ;��������)���� ���

7������-������� �A� D�	E ���	�	��� 4	��= 
	� �
�������� '��1&
�����- ���

�������	���� D������������)�����3 �	� ��-� �A���3 ���� ��� 1�	�"	���2

4�	�� ��	�� (������ ����� �	��� �	� ��������	���	���� '��1���"������ 	�2

��� ���1 ������	���3 	�� �	�� �	�����	� ��� �	������� 7�	-�����1�	������)�2

����3 �	� ����� ��� D�	E�1���	�� ���&��
�	��� ������"������ 4	��= ��

"�
�
����	����� $�
-��� ���� �	� '��1���"������ ����� 1��A�&�	���	��

4�����3 ���4���� 	� ��� D��� ��� ����"��������� �����	��� �A� 9����2 
���

������	��� 
��� ����� ����"�������� '	����=


�� C
2'
���� �	� ��	��� �����2;��-�	������ ��� O2(	�29����
�
�	� -�	��

���� 4	� �
� �	�	�� ���4+���� 	� ��� '��14	������1�= ���� 	��3 ���� �	� D	������2

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ �8



1� ��� '��1����� �	� �	���� ��&����� �	��� �	����1� W���	�+� ���4�	��3 4	� �	�

-�	����B��	���� '	�������	��	�� ����	����= ���� �
��� ��� �"�-	�	���� '	���

&3

��� �	� :�������� ��	� ��� ���	����� ��� '��1"�
-���� &
��	�	
�	���3 	�� �	� �
��	2

������ �)���� �	� �"�-	�	����� >��-�������� ��� 4�	�� �����	��� ;14�	�������

�
� �	��� ��������� '��14	������1� ���3 4	� �	� ��������� �
� ;���)��
� J�66�K

��-�	�� ��1��= @��� '��1���	��� ��� '	�������	��� ������� '��1� �	� �
���������

(�����3 �"�&��������	��� ��� 1�����1����� '��H���-1+�����= �� ��� �	�	�����

9����
�
�	� �	������ 4����� �	� '��1�� 	� �	��� 4
�� ���	�	����� (���1��	�� �?2

�&� �������= G����� ��4�������������� 	� (�-�� ��� '��1�B�� ��� 2�+��	���� 	�

�	�
 ������	��� 4���� 4+����� @���-������ �
� ��� �"�-	�	����� ;14�	�������

��� '	�������	��� ��"�+��= �� ��	��� G����������� &
��� ;���)��
� J�66�3 5*K

-�� �������3 ���� ���� ��� 8�S ��� '��1��3 �	� 	� 7/( J7
�2/�A�2(���K �
� ���

���	 LL
� ���	����� 4�����3 1�	 ��� G�4������� 	� ��� �
�"
�������
����

����
��� �����= 
�� ��� ����� ������� �	� ��� ���	���- -� ���3 �	� 	� �5� ������

&
�	��� 4	��= ������ ��� �	�� �	� ���	 
	����	
��� ��� '��1� �� � C���	�&�	� J��.

#��	���K3 '��1�
� J���K3 �+��	���� J�	��
	����K �3 4	�� &���3 ���� ��� '��1����

��"�	���	�� -�������������"��3 �
1��� �	��� �	���� $�������� �	��� �
����2

�+���	�� -�� >���A���� �����=

�	���1�� 4	�� �	��� �	�����+�&��� �
� ����� 	� '��1�B��� �	� �	���

�����	���� 7
�����	�= �� �	��� 9����
��A�����3 �	� �
� ��� ����-B�	�����

/�##������ ��26
���
� '�����9�� �� �:!#	�� �� �� ��� 	� $��	� ������������

4����3 &
���� ��� �	�� "�
1�����	���� D	������1� �
� 7
� 1��
�����

�
�� �����������3 4
 �	� '��1� ���� ���+��	�� 4��= 
	� 7
�4���� 4����� ���2

���1 1�	 ��� ����������	��� �A� �	� 
�����1�	��� �
� (����� /��� ����

��	��� �����&�= (����B�� �	������ 4����� �?���� ��� 4	��������1��3 4��

���� �	� ��� ;��
-	��	
� �
� ������	� -� ��� ��1�� &B����3 �	� ��� �����2

��	� ��� (����B��� -�
�����=

;�� &
�-�"������� 01���������� ��1�� ���� '��	� ��� ;��� ��	� 	� (�����

/��� ���� �	�� �
�
���
�� '��1��1��� ��4+���3 �	� �	� �	� '��1��"����

�����1�
���� ��1��= �	� ���&��� '��1�� ��1�� �	� ��������� ����������� ��2

�����3 �� �	��� '��1�� ����� ���4��- ����	����� ��� ����� &��� ���� :�	��2

���� ���4	����= 
	� D+��� 	� ��� ������+���� ��� ��� ��� 4���� ���1	� ��2

���	����3 �� ��� �
������ -4	����� ��� C����B��� ��� ��� G���1�������1�

���	���� -� ������= ;�� 1��
����� "�
1�����	��� ��4	�� �	�� ��1�	 �	�� 1
�2

����?�
�� D������1�3 �	� %� ���� �	����	����	
� ������ ������= ;�� �
���2

H���- ��� �	���� ����������� ����� ;��� ��	� ��� ���� '��	� ��-�3 '��1��

�
� �
��A��� ��� ;���������� 	� ��� >
�1���	���� �	� ��� C
2L�� -� ���2

��� ��� -4�� 	� ������	������ �	����	����	
���3 �	� ������	���3 �	� 9�����	���3

	� �	����	����	����	
��� ��� ������= ���4	��	� �	�� ���� ��+�-���� 9�?�	�	��=

�� (��1���T'�A�&	��� �
�����I��



7��	����� @��	
 ����� ��� �	�� �A� ��	�� C
2$�
��&�	
� (���� 
 �� ��7	

J�"��	�� �665K 1�4���� �A� �	�� ���� �?"��	�������� '��1���������� ������	�2

���= �� �	�	��� ��BE���� ��-+����	����� �	���	��� ��� '	���3 �	� ��	���������

��� $�
���
�	��	� �	����	�	����3 �	�� �	� '��1�� ����& ����+��	��= :���� 4����

%���� �����"���- �	� �	��� &����� '��1&
�-�"� �	����	�����3 1�	 ��� �	� $�	2

�+����1�� 7
�3 /�A�3 (��� �	�� �
������������ �������� �	�������= .	��� 	�2

��� %��
�� 	�� ��� /�����&
�-�"� ����A��	�= >	��� �	���	��� 	� ������ '	��

&B���� ������1 �	��� -4�	�������	 	����"���	��� 4����� ��� 4	�&�� ��� '�����=

;� ��� C
2L�� ������ �	�� ���
���	��� ���� '��1"�������� ���&��
�	��� �
2

�	�	-	����= 
	� ����-� ������	���� �B��	��&�	��� ��� '��1���	"����	
�3 �	�

��� '
���� 1	����3 &B����� ��-� �����	���3 ����1����� -� �?"��	����	����=

��+�&�� �
�� ��� 1�	� &
�����	
������ 
��� �A���� ������1 1�	 ��� ;�1�	� �	�

��� �	�	����� ������ '��1&
�-�"�� 	� ��� >
�"�
��&�	
� 	� :���������1�	�

�	� ������ ��� ;�� 
	����	
� ��� ��� (��	� �
� ���	������� ���������	�����

01���������� ���4	�&��� 4�����=

C����	��

�	� 4	���	��� /��������� ��� (�
1������� �
� ������ 
���1��	�������

	�������1 ������� '
��������"�
%�&�� 4�� �	� '����3 4	� ��� �
�	�
� �	�

9�������&��� ��� 
����H�	"� ��� ��� ;1���� ��� ;�1�	� ���+����� 4A���= ��

��� ����
��� '	��"�
��&�	
� 	�� ��� ���������� �	�� ;�� ��������3 ��� A1��

�	� D	���� ����A��3 ��� ��E�� ��� ������� �	���	����� ��� �������1��	����

&��� %����� 	� 9��� �	� 	�� ��	��= 
�� :����� -�� ������ 	�� ������ ���

4��	�� $���
��� ��� '��&�	
��� 1�����+�&�= :���� -�	��3 ��� ������ �	�

(	��3 ��� �	� ��� ��"������ ;11	����� ��� ��� (	���������	�� ��� �	� ���+����2

�	��� ����	� ���3 	� �
��������������� %��
�� &�	�� �����	���� 
��� +�����	����

7������- 1	���� &���= ���1�� 4��� >	��
����"	��������� -�� >���A���� ���2

���3 4	� �	� ��	� �	�	��� @����� -�� ������������A����� �
� '	������� -+����3

�
 �	�� �	��� �
�� ��� �	� �
��� �
���
��	��������� �A� �	�	�� 4��	�� $�����2

���= �	� ��1�� �	� ������������3 	� ��� �
�������� ���-������ >	��
1	�� 4	����3

��� ��� ����� �+���3 4	� ��� 	�����	���� '	��1	�� �������� 4	��=

(�	 ��� C
2;������� 	�� �� ������= 
�� ���4��-4�	E2R&���� 	�� ��� ���

�	��� ��� ����������� �	�� :�������3 �� �	����� �	� ����������3 	� ��� �
�2

������� ��������� (	��3 ��� ��E����� 4���� ��� �������� 4+����� ��� 
��2

���� 	� �	��� ;�� ��� D�	�� ��	�&���3 �� �	� �	�� ��� �������	��� ;��� &���

��4B���� &���= �
 4�	E ��� ���4��&��3 ��� 	� ���4���2 1	� �	�2

���2�	���-	����� ���
"+	����� $�
��&�	
��� �	� ��� ������"���
� 	���2

�	��� 	��3 ��� 	� ��
1�� :A���3 4�� �� �����= 
�� �
���
��	��������� 	��

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ �*



�	��� ��� ������3 �
����� ��� �
�	�
�= �� �	����� �+���	��� ���
����	
���

A1�� ���+���3 �
������ ��� '��1�= �
�	� &��� %���� ��� ��� ���3 ��� :�����

-�� �
�	�
� ���3 �	�� �	�� ��	���� A1�� %���� 
���	� ��� (	������������

1	����= D	� �	� 
�����1�	��� �
� (����� /��� ���� -�	����3 -+��� ��� ���-�

9��� -� �	���� ���	�= ;��� >�������3 �	���� :����� -� 1�����+�&�� ���

�	�� 
	�-	"�	� -� ���1�	����3 1�	�1�� 
��� ���
��= >	������ 4�� �	� 7��	�2

����	� ���1�� � �������� 	���� ��&�+���� ;1�	��� � �
� ��� "����&��� C
��2

����-1	�� �����E�� ���-	�	���3 ���� �	� �	� ���-��	����� �������	�E�	�� ��

�
�	�
� &
���
��	����= :��+���� ����� �	� �	� (��A�������3 ���� ��� �
�	�
�

�	�� -4	����� �	� ��� �	� ������"	���� ���	�1�� &B����= D+����� ��� 
���2

��1�	��� ������ �	� �	� 
	����- %��
�� -� ���+�-��= �� �	��&��� (�	�&&
���&�

�A���� �	� �	�� ��+�&�� ����� �	� ��"���	� �	� ��� ������������� ��������

1���	���= 
���� ��� �
�	�
� &
���� �	� 1����� ���
� �1�����	���� ��� ���

'	�� ��� �
����� 	� 	���� �
"� ��������� ������=

���������� ���� '��	� 1�	�1 	� ��� ����4
����� 
����	����	
� �B��	� �
����+�

��� �	�E �	�� ����� �
�������� �	��� ������	�����= �	� ��"���� �� ��� "
�	�	�3

���� �	� (	���� �� �
�	�
� 	� �	��� W���	�+� �	���1�� 4�����3 �	� ��� ���H���	�+�

	� 4������	���� $��&��� ����"�	���3 	� G�������	�� -� >	��
����"	���������


��� �������� ��-
����� �������3 �	� 	���� ��������� ���� 7��	������3 ������"	�2

��� ��� 9����	���	���� ���� ������	������� ��� ���
�	�	�����=

>
� &��-�� ������� ��� ����	���� 7��	����� ;��?����� �
&��
� 	� �	��� ��2

����	�4 JC���� �66�K ��� �����"��&�3 ���� �	� �
�
��	�� >���A�1��&�	� ��� (	�2

��� -� �	��� �����+��	���3 �������&�	����� C������ �A���� &B���= �� 	�� ��� ;�2

�	���3 ���� �	� >��-B������ -4	����� ;�������"�
-��� ��� ���"�
��&�

�	��� &����	��� D	�������� ��	���3 ��� �
�4���	� ��	3 ���	� �	� �	������ &A�����2

�	����� D��� 	� �	� ;�1�	� �	���	�E�= 
�� C
2(	�� 1��� �	���� D	��������

-4�	����
� �1= �� A1� ��� ��� �
�	�
� 	� ��	��� ���	����1���� $����&�	
� �	���

���� -4��������� �
� ���3 �
 4	� $
���
	�1	����3 �	� -� �	��� ����� �A���� &B�2

���3 
��� �1�� ���� �	�	���� ������� �A� ��� C�����1�����= D��� ��-+���2

�	��� ��� ���������	��� ��	��	�� ��-����	��� ��������� �
����3 ���� ������1

���� �
�� ��� 	� ��� &����	����� $�
��&�	
� 	� ��� >
�1���	�����"���� ��2

"����3 ���
 "�+�	����	�	��� 4�����3 ���	� �	� G��	����1��&�	� ��� �	�	����� (	�2

��� �	��� -�� (��	�1	�&�	� ��	��� /��������� �A���= R��� �1�� ��� ���� ��� 7	�	2

&
 �	�3 	� ��	� ��� �+�	����� 

���2'	��� -� 	�"�
�	�	���� ��� �	�

G��	����1��&�	� ��� �	�	����� (	���� -�� ��	��	���� ��� ��-+����� ���1�� -� ��2

��1��= 
��A� 4A��� �	�� �	� C
2L�� 1��
����� �	����=


��	� ��� �
�	�
� �1�� ��	�� '��&�	
� ��� �
���
��	��������� ����A���� &���3

���� �� ����������� &��	1�	��� 4�����= ;��� D���� �A� �
������2 ��� '��14	����2

��1� �A���� A1��"�A�� ��� �	��������� 4�����= �
��� "���	��� ���3 4�� �
&��
�

�< (��1���T'�A�&	��� �
�����I��



1�&����3 �+��	��3 ���� �� �� %���� �
�	�
� �	��� ������� '	�� ������� ���= ���

���� �	�� �	� ��������	�	����� ��� (�����������1��	������� 	� C	�1�	�& ��� ���

����
���� ���1�� �������� � 1	� ����� 	�� ��� 	� �������	��� �	� ;��1��	������ ���

'	�� �3 ���	� ��� �	��� 	� L��
� ��� ����-A������ (	��"�������� ����	�&�= �
����

���� (�4�������1�+��� ��� �������"�
1���� 1�����	�� 4����� &B����3 ���� ���

�
�	�
� �	� (	���� 	� C
2�
��� ������
 "�
�����	� ��"�
��-	����3 4	� �	� ���2

��1��� 4�����= 
��A1�� �	���� ���� �	� (	����+��� ��
E ����� ��	�3 ���	� �	�

���+��� ��+H��� 1�����	�� 4����� &���3 �+��	�� �B��	���� �
3 4	� �	� �"+��� ��� ���

��	�4��� 4	��������1�� 4	��= .	��� -����-� �1�� ���� ��� �
�	�
� 	� �	�

���4��-�� ���1+������# �	���1��� 4�����3 ���	� �	� G���1��������	�&�	� �	�

(	��4���������� ��� 21�����	���� �	��� 1��	�������= 
	� ������"���
� ����

�	�� ���A1�� �	���� 	���� �	�� D�	�� :�	� ������3 1	� �	�� 	��� ;���� �� ��� C��2

�	�&�	��4��� ��� �
�	�
�� ����"���� ��1��=

D��� ���� �	��� (��	������� ���A��� �	��3 1�&
��� ��� ����� ��� �
�	�
�

�	�� ���� ���� 7������-3 �� /���� ������� W���	�+�����&���� ��� ����	���

D��&� 1�����	��� -� &B����= 
��	� ��A1�	�� �	�� ���� �	� �	�� �	�&��	���� $
�	2

�	
� �	��� (	�������	&���3 ��� �	���� ������� ���3 ��� �	� �����	����� $��������

��� (	���� ��� �	��� >�&�
��&
" -� &
���
��	���� ��� �	� ����������	��� ���2

�"������� ��-�"�����= �	� �
����� (	�������	&�� &�� -�� (�	�"	�� 	� ����

-��� ����	�� � JG�; 5���3 /�
��� �����K -�� �	����-3 4�� �
�� �1�� ��2

���������	��3 4�	� �	� ������������ (	���� 	���� 4	���� �	� 1���	�� 1�������2

��� ��)
��� �
� >	���� ������� �1����	���� 4����� �������= ;� ��� ������� ���

(	�������	&�� �A� 7��	����� ����� ��� ��	�� ������"	���� -��+�-�	�� �	�� ;��

�
� &���./�#2������� ���3 �� ��� �	��	����� 7��� 
"�	��� 4	���� ���-�����2

���3 ��� �	�� 	� ��	��� ������	�+� �������� ��� ����	�1	��� >��4������ �
�

3
�����
���2>�������� �� ��� ���1�� �	��� ���� ������	�E�� �	�E=


� �� �	�� 
����	� ��"�	���� 1���	�� 	� ��� >
�1���	���� ������ �
� 9����

�	�	�� ����	��� ��� ��������	���� ���A� -� ���	�	���� ��� �1-��"�	�����3 ���2

��� 4+����� ��� 
���� ����� �
������ (��	������� &�	�� �������	������ ��3

�	� �	��� �
� �	��� A1�	���� ���������4 1�4+��	�� 4����� &B����= �� 	�� ���2

��� &�	���4��� �
3 ���� �	�� 	��� ;�1�	� 	 2
��
� �
� �	��� &����	��� 4�� -� �	���

1	�������	����� �	� ���4	�&��� 4A���= �	� ���������	�����3 ��� �	� /������2

���� ��� ���&��
�	����� (	����������� &����3 &��� �	���� D	���� "�
1����
�

��� �	� �	�	���� 
����	����	
� A1��������= C	������ 	�� �	� ��
E�� 9�	� ��� ��2

���������� D	����� �
� ���������� '	��2������������ 
1�
��� ��4
����= �	�

�A���� ��� �	� �	��� �B��	� ������ ���&�	
�	������� ���	�� ��1�	��� ��� 	�

������� C	��	��� 1�	 .��� ��������3 �
 4	� �	� L����� �
� �	�	��� @�����3 ���

�	� �
��	������ ����	���)����� �	����A��� 4�����= 
�� �B�� ,����� ���3 �	� �	2

��� /�
E��	� ��� $�
�	� ���
� �1������3 �	�� �	� ��� ����� �)���� -� 1����2

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ ��



���3 
14
�� �	�� ���� 1�4���� �	��3 ���� ��� G�1���� �
� ��� ����
��� -� ���

�	�	����� $�
��&�	
����������� �	��� �1-�4����� ��	� 4	��= ;����	���� �����

9����
�
�	�� �"����� �	�� �	� $��&�	&�� 
����	� 	� -4�	 /��""��� %���3 �	�

%��� ���4	�&���� �
�
�� ������	��� ��� ���	� �?"��	����	����3 ��� %���3 �	�

��� ����	�	
������ $�
-����� ���������3 ���	��4
�� �1�� 	� &����	��� C	��	���

	��
���	� 1��	1��= 
	� -4�	�� /��""� 4����� �	�� ���� ����� B&
�
�	�����


���& ��� ����� 9����
�
�	� -�3 
��� �	� ������+��� �� ���-3 ��� �+��� ���� ���

��� $�
��&�	
���)���� ������=

����� �	��� (	�������	&��� 4	�� �� �	����	��� �	��� ���4��&�� 1�������3 �	���2

����� �
 �����3 ��� ��� ������ ��� �����A����� (	��	��
����	
��� �	�����= 
��4�2

��� 4	�� �	�� ��� 9��� �1�� �	��� ��1��	��� ���&��	����3 �
����� �� 4	�� �	�� �	��

������ ;����1����	���� ���1�	����= �	� L��""��2�
���� 
��� �����	�����	�����

4	�� ������	��� A1����A��	� ��	�3 �� �	� C
2��������� ���� �6 �	����� ����-�	�

��������� &B����3 ���
 �	����� ���� ��� ���&B���	��� '	���
����=


	��� ����+������ ����-�	� 1�	 ���� ���	���� �����	��&
���� 1���AE�� �	�	��

7��	������ ��� 4	���	��� '
������	��= ;��� ��	�3 �	� 	� (����� /��� ���� �	�

%������	���� ��	�� ����1�	��� ���3 4�� 1���	�����3 ���� �	� ���& 9	��2L
��2

>��&�A"���� -4	����� (	�� ��� 9
� ���� $�
1�� 
��� ���""� ���������

&
����3 ��� ��	E� �
 �	�&���3 ���� �	� @������	���� �	� 9����	& �B��	� ���1���2

��� ��� �	�� �+�-�	�� ��� �"	�� �	���1�� &
�����=

�
&��
��  ������ #�� J
3 7G� �66�K 4+�� 
��� �	��� �����	���� >
����2

���-��� A1�����"� �	��� �B��	�� ��4����3 ���� �� &
���� 	� C����	�&27��
�2

�	��2>�������� �	��� �62�	�A�	��� '	�� 	� �	��� �	��������� ������=

�;� �8= 
�-��1�� 4���� ��� '	�� 	� �	��� 9�� �������3 ���� �	���

������
���	��� >
�1���	����= G� 5�=66� 4���� �	� ������ �	���2

��������3 �6 �	����� �"+��� 4�� ����� �
�1�	= 
	� 
�&
���	
� �������&��

�	�� A1�� -4�	 ������ ��� ���	���� P	� ��= $�����1���Q ��� 53* �	�
��2

���= �� �6 �	����� ������	���� 4	� �	� �"
���� �
� $���� ��� /�
E��

A1�� ������	�� �	� /�
E�3 .	&
��	 � ��� ��3 ��� -4�	��� D���&�	�� 1	�

�	� -�� ����	��� :�	�= D	� 1�������� �	�� 9�������
��������� ��� ���

:�	� ������	���3 4	� 4���� ��� ��� ���-��� ��
E�� (��� 	� ���
"� 	�

@���� 5�58 � ������ 1����� ��� ����� D���&�	�� ��� �	� ����� �B���� �A�

�	��� @���� ��� �	�� -� ��A�	���� ��� -� ���-��=# J�
&��
�3 	�� C����

�66�K

�
 ���� �	�� $�	�	" /�B�	�� A1�� ��� �	����1��� ������2�����	��2�
���&�

�� ��� C
2L�� +������3 �
 4�� �	���� �H�	"���� �
�� ��� �	�-	��3 ��� �� 	��

�����1��3 ��� ,�	��� ������ 	� �	��� �
��� W���	�+� ����	� -� ������3 
���

�O (��1���T'�A�&	��� �
�����I��



&A����	���� �	��� ��� 
��� 9
��"�-	��	����= 
��� ��1�� ��� C
2(	��H���	�+�

-�	����� �	� �	�	���� ��"2������ ���� �	�	����� 9
� 	� �2�"��29����	& �	� �	2

��� �621	�2;���B���� ���3 �	��� ��������3 ��� %��� '
�� ��� $
��"�
��&�	
�

�B��	�� �����=

�	� &��-�� �������	��� ��� ��� $
��"�
��&�	
��"�
-���

��	�� ���
���	
�+�� ����� ��������� ��� �	�	���� '
���� 	� 	�������	+��� ���2

�	�� ��� $
��"�
��&�	
� -4	����� 
�����&H�	�	�	
� ��� $�
%�&�	
�= 
	�

��������	���� '
��3 4����� �	� "��&��B��	��� 7�"�+������	
��� ��� (	����

1������	1�3 �+��� �	�� 1��	�1	� ���+�����= 
��	� �	�� �	���	��� 	� ��� (	�� 4�	�

%����	�� ��� �������	���� D������������+�	�&�	� �B��	�� ��4
����= @����

$�������� ����� �A� �	� (���1�	���� -�� >���A����= �� ��� 7���� 1�-	���� �	��

�	��� (���1�	������B��	��&�	��� �
�� ��� �
��������� (	�������	��= �	�����2

4�	�� 	�� �1�� ���� �	� �B��	� &A����	��� (	��"�
��&�	
� �B��	�� ��4
����3 1�	

��� R1%�&�� -�	�����	��� ���4
���� ��� 	�� -�	��	���� >�������� ����� ;��
2

�	�����3 �	� �	�� ��� ��� "�)�	&��	����� D��� ��� �����	� �1��	���3 ����������#3

���
 �
� L
�"���� 	� (	������� ����������� 4�����=


	� 
	�&���	
� �� R�	�	��� ��� '+������� ��� ��� ��� C	��������� ���

�������� ���4	�&���� �	�� ������ 
	����	
� ��������= :4	����� ��� �
�2

�	��	����� ���	��	�3 ��	��� �����	����� �"�	������� ��� D	������1� 1�2

����� ��� �
�� �	�� �
�� >��1	�����3 ���� �
��� �	� �1��1	������ R1%�&� -�

�����3 ��	E� �	��� ����3 ���� �	���� R1%�&� 	� ��� ������ D��� �	���� �?	�2

�	��� ���=


	� 
	�����3 ��� 	� '	�� ������������ 7���2:�	�2�
��	����3 	�� �������2

���� �	&�	� ��� ������	��� ��� �	����1�� �	�� >��1	����� -�� D	�&�	��&�	�= '	�2

�������� ��1�� �	�� �	���� ����������� ��	� %� -� .��-�� �������= ��	� /�
�2

��� �!�	M� �	� (� +	
�,� ���� �� ���� J' 5�6�K �	�� ����� 	���	�+��

���������� �A�� �	�
 ���4
���� ���3 4����� 	���� 4	���� �����	���� >�����2

��� ���4	�&���3 4����� ��� :�������� ����� L
�"
�	�	��3 
�&
�2 ��� �
2

����1��3 ������	���� $�""�� 
��� �����2$�	��	��� �	&�	�� D����� ������	��2

���3 �	� �� �
�� �	� ������� �����3 D	�&�	��&�	���3 �	� �	������ A1��"�A�1��

4����= .
�� �	� %��
�� 4�� �� 	� �	���� G����� �B��	��3 �	������� D����� -�

���4�����3 �	� 	���� G��"���� ����	� 	� ��� >
����������&���� �	��� 7��	������


��� �>	���� ;��	���# ������ ��� �	����� �	��� L
�"����	�������� ��� �	���

�
��4��� 	�� ���	�� '	�� �������-� 4�����=

���1	�� '�&�
��� ��� �	��	����� 
���������� 4	� �	� ������	�+��1�-	����� -4	2

����� ;11	����� ��� /��������� 4����� ����� �	� �B��	��&�	��� ��� �	�	�����

(	��1���1�	���� 	� �	��� ��E �����4������3 4	� �� �
�� �
� ��4�� ���� ��� �	2

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ ��



��� @���-���� ���B��	�� ���	��= ���� ;����� ��� 5��6�� @���� 1����� ��� �	�	��2

�� �"��	��2������� 	� ��BE���� G����� �	�-����-��3 	� '	���� 4	���������	� 


JG�; 5��53 @���� L����
�K 
��� '������� ���� JG�; 5��83 ������ �"	��1���K=

C���� �	�� �)1�	�� '
����3 �	� ����
�� ��� �	�	���� $�
-���� �	��	������ &
�1	2

�	����3 �
 ���1��	���3 ���� �	� ���� A1�� �	� /����� �	���� -�� �	����- &
����3

�	� ����	�	
���� ��� ����	� ������� ��� �	� ��������	
� �
� �	�������� ��������� ���2

�������= C)1�	�� '
���� �	���� �	�� �	��� ���� ��� 	� ��	����2'	��	
�2 
���

C
��
��	����3 �
����� ���� 	� ���	���� 
��� �
����	����� �
�B�	��=.	����

 	�,�8 J�665K3 (�- �������� "
���
����� �����"�����	
� ��� $��	��� (
�M�� ��

��� ���4���� -�� �6= @���������� 	�� ���A� �	� (�	�"	��3 �1���
 4	� @���2���� @��2

���� #�9��� �� .	�������� J�665K=


	� ��	���� >���A�1��&�	� �
� (	��1���1�	������ 	� �	�	����� $
��"�
��&2

�	
��"�
-��� ��� �	�� ���� ;��� ��	� �A� (����� /��� ���� -� .��-�� ��2

����� ��� �	�	�� �����������2L
�"
�	�	��2;�������� 	� ��� '	�� 	�����	���=


	� '��&�	
� �	���� L
�"
�	�	��2��
�� 4�� ��3 	���� ���� ��� 7������A��

-� ���+�����3 4��� �	� C��"��	��� 	� 1�+����	����� 
��� 1�������� �	����	
2

��� &
���= �� �	��� �-��� ���� �� �A� �	� C��"��	��� �����3 	� �	��� (��&��2

1���2�"	�� ��� �
�1 -� �������3 ���	� �	� ;������� 	� �	� ����������� L�	H��

�	����= 
�1�	 4����� �	� 1�	��� �1���� � �	� '	��� ��� ��� �
�1 � ��������

������
����3 �
 ���� �	� 
	����- -�� �
�1 ��1%�&�	� ���-���� 1�	���� ��2

����	�� ������	��= �� �	��� ������� ��H���- 4	�� �	�� C����-	���	
� -�� (	��2

����"���= 
	� $�
���
�	��	� ��� 	� �	��� ���� 	��	��� �	����	
� �	� (��A���2

����3 �
� 	���� ��������4+��	� ����	������3 �	����A���	� ����� 1�
1���������

$���� 1������� -� 4�����= ;��� �	��� 9�����
����	
��� ��� 7���1�-A�� 4	�2

&�� 	�����3 
��� 	� 	���� &A����	���� L����&��� �����"����� -� ��	�= �� �	��

���� "����	����3 �)���	���� 7������+���������3 �	� �	�� �� ��� ��1%�&�	���

D���������� ��� '	��� ����	�����=

;��1�	�&

�	��� 9���� 4����� �� 4�������	��	�� B&
�
�	���� '�&�
��� ��	�3 �	� ���

G�1���� -�� �	�	����� �	�
 1��	���� 4�����= 
��� ��� ��BE�� �"��"
���2

-	�� �	��� 	� ��� 
	���	1��	
�=
<

;�� ��� ��	�� ��� 
�����&H�	�	�	
� 4	������

&��� ��� 	� ����� :�&���� �	� �	�	��� >��1���������� �������= ���
� �����

������ $�	�	"�29�
��
� �	�� ������ ������ ��2�
 ���# ��
�	# ���3 �	� ��� �	�

(	������� 	� ��&
�"�	�	����� '
�� 	� �����2�
��� ��� 5621	�2�
�2'	��� �����2

*6 (��1���T'�A�&	��� �
�����I��

< �	��� ��-� ���� ��� 9�?� �
� @
�� (���
� 	� �	���� C���=



-�	����� 4����� &B����3 ������	��� ��� �	� '���"����������) 	� ��� ���4��-��

(
? ��� +�
����
:� �
����3 4����� �	� �
1	�	�+� ��� ������ �	�����+�&�= :4��

�	1� �	� ������ �	� ��A��	�� �	����+�1���3 ������ (	�� 4	����3 ��� �	 /�����


J�66�K ��4�� ���+����	�� ��� ���1�����""�# 1������	1�3 ��� �� ���� �	� W���	2

�+� �	���� �7
��	�������# ���� �
1��� -� 1������	1��= �+���	��� (	��"�����2

��� &B���� �	��&� ��� ��� '���"����� 
"�	�	��� ��� ��� ��������� �����-�	�����

4�����3 
��� ���� ��� �	� 7
������ ��1�	 ���+�����= 
	��� ��������� 1	����

	� ��� '��12�	���1���	����� R�	���	������"��&�� �A� ��� �������� �

& ���

'	���=

�	�� 4�	���� >��1�������� ��� (	��H���	�+� 4	�� ����� �	� >����BE����� ���

LL
� -� ����	���� ��	�= 
�� '
���� �I82:
�� � �	�����	�� �A� ��� 7�"
�����2

1���	�� ���4	�&��� � 4	�� �	� -���������� �	����- �
� �	�	����� ������� 	�

�"	���	��1���	�� -� A1��4	���� ��	�= �"	���	��� �A���� 	��� #���.��.��7��

���� ��	� 	������	���� ��� ���������	����� ���
�����	���� �����-�� &B����=

�	�� 9����
�
�	�3 �	� �	���� 
��	����� �	��� ����&
���3 4	�� ������	��	�

�	��� A1����1�� &B����= �� �
���� �"������ �
�� �	� �
������&�
���3 �	�

�	� ��� 
	��
���� ��� L�	"� �?"
����	��� �����	���3 �A� �	� "��&�	-	���� 9���2

�
�
�	�= �	� 4�	����� $�
1��� ������ ��� ���
����1����� �
� ���� ��
 ��

LL
� ���3 ��� 	���� �	����- 	� ��� �
1	��� �����������	& ����1�	�� �	�2

����+�&�=

���
� 4���� 	���� �
� '
��
� �	� L�	" ���4	�&���3 ��� +���	�� �	��� '	���2

����	
� �	� '��1�� 7
�3 /�A� ��� (��� 	� ������	������ ���	����� �	����� ���

���	� �	� $�	���������
�
�	�3 4	� �	� ����� A1�	�� 	��3 
1�
��� ������	��� �+���=


	� '	��� ���1�� �"�	��� 	���� ���	����� 1�	���� ���	���� '+�	�&�	��� -� JC�2

1�� �66�K= '
��
� 1��A�-� ��-� �	� ���A��	��� �	��������� �
� �	�	&
�3 D�����2

�+���� ��������	���	���� '��1� 	� ;1�+��	�&�	� �
� ��� ���	����	��� ���-��	�2

����=

�B����� ���
 ��BE��� LL
� 	� �	���� 9����
�
�	� 	� �	�	���� '	��&������

�	���1��� 4�����3 4A���� ���	� -4�	 ���-�	�	�� $�
1��������� 4��������� �	�

��
E� ���+�����	��� �
4	� �	� �	����A��	��� D	������1� �
� ���������� (	��2

��	���= �	� �
����� LL
 4A��� ��� �	����- �
� �
������3 1	���� ��1�+����	2

���� 8*2��2������
1%�&�	��� ���B��	���� ��� ���	� ��� C����	�� �	� �	���

7�	�� �
� 1���	�� 1���������� ;�����
	��� ����	������� ��� ���	��-�	�	� ���

:���	�� ��� �	� ��
E�� ;���1
� ��������	���	������ R1%�&�	�� ���B��	����= ;��

4�	����� ����&� 4A��� �	��� ;����� �	� ��"�	���	��&�	� �
� �	�	����� �������

��4�	����3 �� 
��� ����������	���� F�������� 1	� (����� 53� �B��	�� �	��=

�	� ��� D�	������4	�&���� �
� �"�	�������	��3 �	� -4�	����
��� ������	�2

��� 4	��3 4�	� �	��� ;��
��������� ��� ��� �������� ��&�
� ��� �
�"����2

	�	����� 
���������1�	���� 1�������3 4����� ���� �	� �
�"����	
������� ��2

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ *5



��� .��� ����	����= ������	��	� ���� %��
�� ��� $�
1��� ��� 
�����	������	�

��� 2����	�	����� ���B�� 4�����= 
��� �1�� �	���� ��
���	
�+�� D����� �
�

�"�	�������	�� �A��� ��-�3 ���� '
����� �	��� ������� D������ �����4
����

�	��= D����� '	��� ����� �	�	��� ������
����3 �
 ���� �	���� �������� ��	�3

���� �	��� 
���� 	� ��&
�"�	�	����� '
�� ����	�	��� ��� 	���� 4	���� ���

������� ����� ��� 9����	& ����"������� ���"�	����� 4�����= �
����� ��� ���2

"�
��&� �
� �	�	����� (	�����-�	�������� �
�� 	� '	���
�� �
��	���3 4	� ���

���-�	� ��� '��� 	��3 �	�� �	� ;��
��������� �� ;���	�	����� ��� �"�	�������

�	����1�� 4	� �	� �������	� �A� '	�� ������= ������4��� ������	���3 	� �	��� ���2

-� ������ :�&����3 4����� �	� ����
��� (	���� 
����	� ���� �	�	���	�	���= �� ���

&����	����� $�
�
���"�	� %��������� ��� �	���� G�1���� ���
� �+���� �	���2

���-�=

R14
�� ���������	��� $�
��&�	
���
���� �	� 9�����- ��1��3 	��� �����	2

����� /��������� -� �	��	���	����3 1��
����� �
��3 4
 �	� �	��� 7���	�+����2

��&� ������1��3 4A����� ��� �	�� �
��3 ���� 	��
���	�� ����������� ��� 7�2

�	������ ��� ��� ���1�	����3 �	�� ��� �	� �	�����	��� ��� �	�	����� (	����

�	�-������� ��� �	��� 	� �	��� �"�-	�	����� ,�����	& ��� �	�	����� '	��� -��

/������ -� 1�	����=

�	�������

;���)��
�3 
��	� J�66�K /	
	��6
��	���� ������
 �	�� �	 ��	;�� ���6#	���
	.

2��9�� ��#6
�9��1 *
�<������ �� ����	���	����= G����B��= ��= ���������

��
�� $
�)�����	H�� '!�!���� ��������=

;�&�	�2�A�������3 7����� I /���4	��3 7��
�� J�665K �	
�2�����
	2���

P>
��������2�&�	"�Q= (����� ����	��� �A� ���	��4	������������3 ;1��	���� �A�

(	��2 ��� ���	�������
�
�	� ��� G�	����	�+� (����=

;��)3 ���"���	� J�665K ���	&	�� �
	�	��� $�	���#= ��� �#�
��	� /���#	���
	.

2��
3 ;"�	� �6653 �= �<2�O3 O62O�3 O�2O*=

(����	�����3 @��� J5�OOK >	��
4��� ��� ���&����� ��1%�&�= ��� *������2���� ��


����� '����������= C���= �= ;�� ������
�	��= (���	�� ����� >�����3 �=

558258�=

(���&3 ��? J5���K D	� ������� (	���� ���X ��� ����� C= /
�1�	�� I @��	��

C
��1��� I ��? (���&� =����- �	�
���#���- ��
���������= '���&�����

����&��"3 �= 55*25*�=

(A�����3 �����	�� J�66�K C
2$
��"�
��&�	
�= $�+������	
� �� ��� 9����� ���

'
��������"�
%�&�� �
	�	����� �	�
# �� ��=�=�66� 	� :A�	��=

L���
��3 .
`� J5�OOK *������2���	� *
����#� �� /�	����	� ���# '���
,= $�	���2

�
�3 .@� $�	����
� G�	����	�) $����=

*� (��1���T'�A�&	��� �
�����I��



L
��	��	
� ��"!�	���� 9����	H�� �� � ����� �� �� �
� J�66�K *
6����	���� >

+6�	��� +� �:���	� 2	
	��7�� ?@## 542� $�"�� -� �	��� 9���������	�� 	�

$��	�3 5O=5=�66�=

'�
��3 C��� J5��8K C	��"�
-���� ��� "�+�
������� (�4������	�= �	�� ����3

�"�-	�	���� C)"
�����= ��� !���
�����2���A
� *�
�2������� ��
 =�����������
.

������= C���= �= C����� C	���1����� ��� ��&��� ��������= '���&����� ����=

'������3 >	�!� J5���K !��8����
��# ��
 ����������� �����
= <= ;���= /B��	�����

���
"��� $�
�
���"�)= :����� 5�O*=

a2 J5�OOK =
��� ��
 &���	
��A�= (���� (�����	=

'
������3 C�	�- �
� J5�OOK D���������= ��� *������2���� ��
 ����� '�����.

�����= C���= �= ;�� ������
�	��= (���	�� ����� >�����=

/�����
3 @
� �	 J�66�K '�� ��	�� �� $�� �� ��� ��B= R��	���

���"�II444=�2"
"��=�
�I���	����I"�	����b�5=�����=

/	����3 7
�� I ����	�3 L����	� J�666K =
�������� ������� '
����- �2���	� �������

��� /�#2���
	��#	���� ��� ��� ���A���� ��� �����= C��1���ID	���

���
"� >�����=

/BB�&3 �	����� J�66�K 
	�	��� ��1 
���� �	� ;��1�	�& ��� �	� ���� :�&����=

������	�4 �	� C��� C����&�= ��� ����%����
 ��
 =���#	���
	2��� <3 �66�3 �=

8<528�� J^ ;����	�� ��� G�������� ��� 9
��	���= C���= �= @
���	� $
�-��K=

/�B�	��3 $�	�	" J�66�K C���������� ��2���� ��
 �����	��� ����2
��������=

>	��
���-�	������ �	��� /��"�+��� �	� $���	�& �	������	�� �� ��� 9�����

��� '
��������"�
%�&�� �
	�	����� �	�
# 	� :A�	�� �� ��=�=�66�=

C
���A����3 /	�1��� J�665K 542� +����	�� /���#	���
	2���= �B��� �
�)=

a2 J�66�K 542� +����	�� =���#	���
	2��� #�� ��
 �+�.�DEE�

/��2C�""����	�� ���	�1

& >�����=

C�1"3 
��	�� J�66�K ��" 	� L
�	�� �
 � 
2L	���� ���� U
�= ��� ��� ����%��.

��
 ��
 =���#	���
	2��� <3 �66�3 �= 8�8 J^ ;����	�� ��� G�������� ��� 9
�2

�	���= C���= �= @
���	� $
�-��K=

C����3 G�	 J�66�K �� %�����
 3��� ���- ��� #��
 �
������- %�� ��� ��
������ %�
.

���F !���
���% #�� �����	���
 ����
��= G����B��= �����&�	"�=

$
�-��3 @
���	� JC���=K J�66�K �������� ��� 8���
�	�� ��� '�����#�� +��

G������ ��� =����1 5420 (���	�� D���4����� ��� �	�����
���"�	� JD���2

4����� ��� �	�����
���"�	� <K=

$
)��
�3 L������ ;= J5��<K � '������	� !��
�������� �� +����	� �����= .�4

U
�&� @
�� D	��)=

7
��3 /������ I $�	�-3 D
������ JC���=K J5��<K =�2�.�
����� 3���
��������.

��� ��� ��������� &���������= C�	���1���� �"�&����2>�����=

7��
�"�3 ��	� J�665K ; '��
��1�� >���	�� �
� ��"= ��� �#�
��	� /���#	��.

�
	2��
3 ;"�	� �6653 �= *<2*O3 <62<*=

5�I5I�668 
��T�	�	����T�	�
�T�	��T�
������������ *8



�����&)3 $���� L= J�66�K +�� �����	�� =	#�
	= >
�����3 �������� ��� ��� 9�����

��� '�9/ �� 5�=<=�66� 	� :A�	��=

9�
��
�3 $���	�	� J�665K C
��
� 	� C	2
��= ��� �#�
��	� /���#	���
	2��
3

;"�	� �6653 �= <<2<O3 �62��3 ��2�*=

>	
��3 (	�� J�66�K 3���� ��
�� �, +	,� *
����� *
�����= .�4 U
�&� /�����2

��	� '
�����	
�=

D�1���3 @
������ J5��8K �	������ ��
 ���#. ��� ������������� +�� ���.

�	�#�- �2�����
���- ��	
������� ��� �����
�	�� 	������������
 *
�.

�
	##�= �A������ '���-	�=

�	�
�	��� 	� '
���� C
2��" J����� �66�K

�	,1���� J
+�����& �66�3 7��	�� ���� �
� 9�	��3 
$� ;���
�) 

� ������K=

 ������ #�� J
I/(I'	������I
+�����& �66�3 7��	�� ;��&������ �
&��
�3


$� 9	���� (A�����K=

��� ,�	:� ������ J
 �66�3 7��	� ��� ������� $�	�	" /�B�	��K=

+��	�; J'���&��	�� �6653 7��	�� $	�
�3 
$� @���2$	���� �����	�� ���

@���2L����� 9�	1���K=

(���� 
 �� ��7	 J�"��	�� �6653 7��	�� @��	
 �����3 
$� �	&
 �� �� 7	�
K=

���� -��� ����	�� ��� #����� 	� ��� 0�	��� JG�; �66�3 /�
��� �����K=

(��� J'���&��	�� �6653 7��	�� @���2C���	 7
���3 
$� 7����
 (����K=

(�11������� J���4���� �6653 7��	�� ;����� .	���
�3 
$� $��2;��� �����2

�
�K=

)�� �<�1� )�� J���4���� �6653 7��	�� 
�� U	��3 
$� ����� �	��4���K=

)���	1�� J����	��3 L�	�� �6653 7��	�� '���	����
 >	����	�	 R�����	K=

 �1� .��4��� J
 �6653 7��	�� ����� ��
����3 
$� ;����
 ��	��K=

����	��4�4��� �� ��� 7�����+��� J
 �6653 7��	�� $���� >
�"�3 
$� @��� ����	&3

���-�	��K=

/	��"����,�	��� J
 �6663 7��	�� �� 9�����3 
$� �	����� (�������3 ���-2

�	��K=

��� *���� 	� ��� *����� J
 �6653 C���� �������2(�����3 
$� 9�
���

�����3 ���-�	��K=

��� ��1�����	� J7��	�� @���� ���&	��3 
$� @
��2����	� D�	��3 ���-�	��K=

'	�� �� 0����� J(���	�� �6653 7��	�� '�!���	� ���
�?3 ���-�	��K=

*� (��1���T'�A�&	��� �
�����I��




